



Tabulation of Bids

Letting: 02190515 May 15, 2019 **Call Order:** 001 **Contract:** E2X73
District: District 2 **Counties:** DUVAL **Fed Aid No:** N/A
Contract Time: 910 CALENDAR DAYS **Project(s):** 43769715201 (*)

Contract Descr: Landscaping - I95 Overland Bridge

Furnish, install and establish highway landscaping, irrigation systems and floating fountain aerator system on I-95 Overland Bridge as depicted in the contract documents. A MANDATORY PREBID CONFERENCE will be held at the District Office, Madison Room, 1109 South Marion Avenue, Lake City, FL 32025, on April 18, 2019 at 10:00 a.m. Experience in Landscaping (Form 850-070-09) must be completed and submitted with the bid. LUMP SUM. BID EXPRESS MANDATORY.

Line No / Item ID Item Description () indicates item is bid as Lump Sum	Alternate	Quantity Units	(1) MIDWESTERN CONSTRUCTION, INC		(2) SUN STATE NURSERY & LANDSCAPING, INC.		(3) OASIS LANDSCAPE SERVICES, INC.	
			Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0006 Landscape / Peripheral								
0005 0590 71 1 IRRIGATION SYSTEM- WATER LINE, CONTRIBUTION IN AID OF CONSTRUCTION, PROJECT 437697-1- 52-01, (DO NOT BID)		(1.000) LS	68,415.80000	68,415.80	68,415.80000	68,415.80	68,415.80000	68,415.80
0010 E999 10 41 MAINTENANCE LUMP SUM CONTRACT 43769715201		(1.000) LS	2,136,910.00000	2,136,910.00	3,082,000.00000	3,082,000.00	3,102,578.89000	3,102,578.89
0006 Landscape / Peripheral Section Totals:				\$2,205,325.80		\$3,150,415.80		\$3,170,994.69
Contract Grand Totals:				\$2,205,325.80		\$3,150,415.80		3,170,994.69



Tabulation of Bids

Letting: 02190515 May 15, 2019

Call Order: 001

Contract: E2X73

Line No / Item ID Item Description <i>() indicates item is bid as Lump Sum</i>	Alternate	Quantity Units	(4) ARAZOZA BROTHERS CORPORATION					
			Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0006 Landscape / Peripheral								
0005 0590 71 1 IRRIGATION SYSTEM- WATER LINE, CONTRIBUTION IN AID OF CONSTRUCTION, PROJECT 437697-1- 52-01, (DO NOT BID)		(1.000) LS	68,415.80000	68,415.80				
0010 E999 10 41 MAINTENANCE LUMP SUM CONTRACT 43769715201		(1.000) LS	3,131,243.03000	3,131,243.03				
0006 Landscape / Peripheral Section Totals:				\$3,199,658.83				
Contract Grand Totals:				\$3,199,658.83				



Tabulation of Bids

Letting: 02190515 May 15, 2019 **Call Order:** 001 **Contract:** E2X73

NOTE: Failure to file a protest within the time prescribed in section 120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes.



Tabulation of Bids

Letting: 02190515 May 15, 2019 **Call Order:** 002 **Contract:** E2Y14
District: District 2 **Counties:** DUVAL **Fed Aid No:** N/A
Contract Time: 850 CALENDAR DAYS **Project(s):** 43593115201 (*)

Contract Descr: Landscaping - Baymeadows Road (SR 152) from Prominence Pkwy
 Furnish, install and establish highway landscaping and irrigation systems on SR 152 (Baymeadows Road) from Prominence Parkway to Deerwood Crossing Drive as depicted in the contract documents. Experience in Landscaping (Form 850-070-09) must be completed and submitted with the bid. BID EXPRESS MANDATORY.

Line No / Item ID Item Description () indicates item is bid as Lump Sum	Alternate	Quantity Units	(1) OASIS LANDSCAPE SERVICES, INC.		(2) MIDWESTERN CONSTRUCTION, INC		(3) ARAZOZA BROTHERS CORPORATION	
			Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001 Landscape / Peripheral								
0005 E999 10 41 MAINTENANCE LUMP SUM CONTRACT 43593115201		(1.000) LS	567,118.83000	567,118.83	610,263.00000	610,263.00	686,920.45000	686,920.45
0001 Landscape / Peripheral Section Totals:				\$567,118.83		\$610,263.00		\$686,920.45
Contract Grand Totals:				\$567,118.83		\$610,263.00		686,920.45



Tabulation of Bids

Letting: 02190515 May 15, 2019

Call Order: 002

Contract: E2Y14

Line No / Item ID Item Description <i>() indicates item is bid as Lump Sum</i>	Alternate	Quantity Units	(4) C & L LANDSCAPE, INC.					
			Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001 Landscape / Peripheral								
0005 E999 10 41 MAINTENANCE LUMP SUM CONTRACT 43593115201		(1.000) LS	800,781.00000	800,781.00				
0001 Landscape / Peripheral Section Totals:				\$800,781.00				
Contract Grand Totals:				\$800,781.00				



Tabulation of Bids

Letting: 02190515 May 15, 2019 **Call Order:** 002 **Contract:** E2Y14

NOTE: Failure to file a protest within the time prescribed in section 120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes.



Tabulation of Bids

Letting: 02190515 May 15, 2019

Call Order: 003

Contract: E2Y27

Line No / Item ID Item Description () indicates item is bid as Lump Sum	Alternate	Quantity Units	(1) MAER HOMES, LLC					
			Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001 Roadway								
0035 0102 71 23 TEMPORARY BARRIER, RELOCATE, LOW PROFILE CONCRETE		804.000 LF	20.00000	16,080.00				
0040 0102 74 1 CHANNELIZING DEVICE- TYPES I, II, DI, VP, DRUM, OR LCD		18,885.000 ED	0.25000	4,721.25				
0045 0102 74 2 CHANNELIZING DEVICE, TYPE III, 6'		4,290.000 ED	0.50000	2,145.00				
0050 0102 74 7 CHANNELIZING DEVICE- PEDESTRIAN LCD (LONGITUDINAL CHANNELIZING DEVICE)		355.000 LF	8.00000	2,840.00				
0055 0102 76 ARROW BOARD / ADVANCE WARNING ARROW PANEL		255.000 ED	12.00000	3,060.00				
0060 0102 78 TEMPORARY RETROREFLECTIVE PAVEMENT MARKER		59.000 EA	25.00000	1,475.00				
0065 0102 99 PORTABLE CHANGEABLE MESSAGE SIGN, TEMPORARY		2,280.000 ED	19.00000	43,320.00				
0070 0102104 TEMPORARY SIGNALIZATION AND MAINTENANCE, INTERSECTION		720.000 ED	43.00000	30,960.00				



Tabulation of Bids

Letting: 02190515 May 15, 2019

Call Order: 003

Contract: E2Y27

Line No / Item ID Item Description () indicates item is bid as Lump Sum	Alternate	Quantity Units	(1) MAER HOMES, LLC					
			Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001 Roadway								
0075 0102107 1 TEMPORARY TRAFFIC DETECTION AND MAINTENANCE, INTERSECTION		720.000 ED	7.00000	5,040.00				
0080 0104 18 INLET PROTECTION SYSTEM		18.000 EA	250.00000	4,500.00				
0085 0107 1 LITTER REMOVAL		14.170 AC	1,000.00000	14,170.00				
0090 0107 2 MOWING		3.400 AC	1,000.00000	3,400.00				
0095 0108 1 MONITOR EXISTING STRUCTURES- INSPECTION AND SETTLEMENT MONITORING 44129815201		(1.000) LS	15,000.00000	15,000.00				
0100 0110 1 1 CLEARING & GRUBBING 44129815201		(0.100) AC (LS)	45,000.00000	45,000.00				
0105 0110 1 1 CLEARING & GRUBBING 44129815202		(0.210) AC (LS)	47,500.00000	47,500.00				
0110 0110 4 10 REMOVAL OF EXISTING CONCRETE		2,427.000 SY	10.00000	24,270.00				



Tabulation of Bids

Letting: 02190515 May 15, 2019

Call Order: 003

Contract: E2Y27

Line No / Item ID Item Description () indicates item is bid as Lump Sum	Alternate	Quantity Units	(1) MAER HOMES, LLC					
			Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001 Roadway								
0115 0120 2 2 BORROW EXCAVATION, TRUCK MEASURE		36.000 CY	100.00000	3,600.00				
0120 0120 71 REGULAR EXCAVATION (3-R PROJECTS ONLY) 44129815201		(1.000) LS	9,500.00000	9,500.00				
0125 0120 71 REGULAR EXCAVATION (3-R PROJECTS ONLY) 44129815202		(1.000) LS	12,500.00000	12,500.00				
0130 0121 70 5 FLOWABLE FILL, PAVEMENT REPAIRS, PROJECT 441298-1-52-02		99.000 CY	195.00000	19,305.00				
0135 0285714 OPTIONAL BASE, BASE GROUP 14		119.000 SY	126.00000	14,994.00				
0140 0327 70 5 MILLING EXIST ASPH PAVT, 2" AVG DEPTH		8,734.000 SY	5.00000	43,670.00				
0145 0327 70 6 MILLING EXIST ASPH PAVT, 1 1/2" AVG DEPTH		1,567.000 SY	6.30000	9,872.10				
0150 0327 70 7 MILLING EXIST ASPH PAVT, 4" AVG DEPTH		2,213.000 SY	5.15000	11,396.95				
0155 0334 1 53 SUPERPAVE ASPHALTIC CONCRETE, TRAFFIC C, PG76-22		774.300 TN	192.00000	148,665.60				



Tabulation of Bids

Letting: 02190515 May 15, 2019

Call Order: 003

Contract: E2Y27

Line No / Item ID Item Description () indicates item is bid as Lump Sum	Alternate	Quantity Units	(1) MAER HOMES, LLC		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
			Unit Price	Ext Amount						
SECTION: 0001 Roadway										
0160 0337 7 83 ASPHALT CONCRETE FRICTION COURSE, TRAFFIC C, FC-12.5, PG 76-22		1,044.500 TN	165.00000	172,342.50						
0165 0425 1205 INLETS, CURB, TYPE 9, PARTIAL		2.000 EA	2,500.00000	5,000.00						
0170 0425 1351 INLETS, CURB, TYPE P-5, <10'		4.000 EA	7,500.00000	30,000.00						
0175 0425 1355 INLETS, CURB, TYPE P-5, PARTIAL		1.000 EA	3,800.00000	3,800.00						
0180 0425 1361 INLETS, CURB, TYPE P-6, <10'		1.000 EA	8,100.00000	8,100.00						
0185 0425 1451 INLETS, CURB, TYPE J-5, <10'		2.000 EA	8,100.00000	16,200.00						
0190 0425 2 61 MANHOLES, P-8, <10'		5.000 EA	7,900.00000	39,500.00						
0195 0425 2 91 MANHOLES, J-8, <10'		2.000 EA	12,555.00000	25,110.00						
0200 0425 4 INLETS, ADJUST		7.000 EA	2,500.00000	17,500.00						



Tabulation of Bids

Letting: 02190515 May 15, 2019

Call Order: 003

Contract: E2Y27

Line No / Item ID Item Description () indicates item is bid as Lump Sum	Alternate	Quantity Units	(1) MAER HOMES, LLC					
			Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001 Roadway								
0205 0425 5 MANHOLE, ADJUST		10.000 EA	1,800.00000	18,000.00				
0210 0425 5 1 MANHOLE, ADJUST, UTILITIES		13.000 EA	1,500.00000	19,500.00				
0215 0425 6 VALVE BOXES, ADJUST		16.000 EA	650.00000	10,400.00				
0220 0425 82 REPLACE GRATE		4.000 EA	925.00000	3,700.00				
0225 0430 94 1 DESILTING PIPE, 0 - 24"		600.000 LF	10.00000	6,000.00				
0230 0430 94 2 DESILTING PIPE, 25 - 36"		600.000 LF	10.00000	6,000.00				
0235 0430175112 PIPE CULVERT,OPTIONAL MATERIAL,ROUND, 12"S/CD		71.000 LF	250.00000	17,750.00				
0240 0430175115 PIPE CULVERT,OPTIONAL MATERIAL,ROUND, 15"S/CD		19.000 LF	350.00000	6,650.00				
0245 0430175118 PIPE CULVERT,OPTIONAL MATERIAL,ROUND, 18"S/CD		731.000 LF	295.00000	215,645.00				



Tabulation of Bids

Letting: 02190515 May 15, 2019

Call Order: 003

Contract: E2Y27

Line No / Item ID Item Description <i>() indicates item is bid as Lump Sum</i>	Alternate	Quantity Units	(1) MAER HOMES, LLC					
			Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001 Roadway								
0250 0430175124 PIPE CULVERT,OPTIONAL MATERIAL,ROUND, 24"S/CD		25.000 LF	375.00000	9,375.00				
0255 0430175130 PIPE CULVERT, OPT MATERIAL, ROUND, 30"S/CD		7.000 LF	550.00000	3,850.00				
0260 0431 1213 PIPE LINING- CIPP- INVERSION RESIN IMPREGNATED FELT, 18" PROJECT 441298-1-52-02		492.000 LF	115.00000	56,580.00				
0265 0431 1214 PIPE LINING- CIPP- INVERSION RESIN IMPREGNATED FELT, 30" PROJECT 441298-1-52-02		17.000 LF	400.00000	6,800.00				
0270 0520 1 10 CONCRETE CURB & GUTTER, TYPE F		2,036.000 LF	44.00000	89,584.00				
0275 0520 3 VALLEY GUTTER- CONCRETE		102.000 LF	30.00000	3,060.00				
0280 0522 1 CONCRETE SIDEWALK AND DRIVEWAYS, 4" THICK		1,037.000 SY	45.00000	46,665.00				
0285 0522 2 CONCRETE SIDEWALK AND DRIVEWAYS, 6" THICK		661.000 SY	55.00000	36,355.00				



Tabulation of Bids

Letting: 02190515 May 15, 2019

Call Order: 003

Contract: E2Y27

Line No / Item ID Item Description () indicates item is bid as Lump Sum	Alternate	Quantity Units	(1) MAER HOMES, LLC					
			Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001 Roadway								
0290 0522 4 BUS SHELTER PAD- CONCRETE		159.000 SY	85.00000	13,515.00				
0295 0527 2 DETECTABLE WARNINGS		351.000 SF	30.00000	10,530.00				
0300 0570 1 2 PERFORMANCE TURF, SOD		487.000 SY	9.00000	4,383.00				
0305 0710 11101 PAINTED PAVEMENT MARKINGS, STANDARD, WHITE, SOLID, 6"		0.932 GM	1,800.00000	1,677.60				
0310 0710 11125 PAINTED PAVEMENT MARKINGS, STANDARD, WHITE, SOLID FOR STOP LINE OR CROSSWALK, 24"		212.000 LF	4.00000	848.00				
0315 0710 11131 PAINTED PAVEMENT MARKINGS, STANDARD, WHITE, SKIP, 10-30 OR 3-9 SKIP, 6" WIDE		0.517 GM	815.00000	421.36				
0320 0710 11160 PAINTED PAVEMENT MARKINGS, STANDARD, WHITE, MESSAGE OR SYMBOL		6.000 EA	48.00000	288.00				
0325 0710 11170 PAINTED PAVEMENT MARKINGS, STANDARD, WHITE, ARROWS		6.000 EA	30.00000	180.00				



Tabulation of Bids

Letting: 02190515 May 15, 2019

Call Order: 003

Contract: E2Y27

Line No / Item ID Item Description <i>() indicates item is bid as Lump Sum</i>	Alternate	Quantity Units	(1) MAER HOMES, LLC					
			Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001 Roadway								
0330 0710 11201 PAINTED PAVEMENT MARKINGS, STANDARD, YELLOW, SOLID, 6"		0.046 GM	1,550.00000	71.30				
0335 0999 25 INITIAL CONTINGENCY AMOUNT, DO NOT BID 44129815201		(1.000) LS	50,000.00000	50,000.00				
0001 Roadway Section Totals:				\$1,959,449.22				

SECTION: 0002 Signing								
0340 0700 1 11 SINGLE POST SIGN, F&I GROUND MOUNT, UP TO 12 SF		3.000 AS	650.00000	1,950.00				
0345 0700 1 50 SINGLE POST SIGN, RELOCATE		1.000 AS	500.00000	500.00				
0350 0700 1 60 SINGLE POST SIGN, REMOVE		1.000 AS	550.00000	550.00				
0355 0710 90 PAINTED PAVEMENT MARKINGS, FINAL SURFACE 44129815201		(1.000) LS	12,500.00000	12,500.00				
0360 0711 11123 THERMOPLASTIC, STANDARD, WHITE, SOLID, 12" FOR CROSSWALK AND ROUNDBOUT		1,089.000 LF	5.00000	5,445.00				



Tabulation of Bids

Letting: 02190515 May 15, 2019

Call Order: 003

Contract: E2Y27

Line No / Item ID Item Description () indicates item is bid as Lump Sum	Alternate	Quantity Units	(1) MAER HOMES, LLC					
			Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0002 Signing								
0365 0711 11125 THERMOPLASTIC, STANDARD, WHITE, SOLID, 24" FOR STOP LINE AND CROSSWALK		290.000 LF	8.00000	2,320.00				
0370 0711 11141 THERMOPLASTIC, STANDARD, WHITE, 2-4 DOTTED GUIDELINE/ 6-10 GAP EXTENSION, 6"		0.051 GM	10,000.00000	510.00				
0375 0711 11170 THERMOPLASTIC, STANDARD, WHITE, ARROW		6.000 EA	95.00000	570.00				
0380 0711 11241 THERMOPLASTIC, STANDARD, YELLOW, 2-4 DOTTED GUIDE LINE /6-10 DOTTED EXTENSION LINE, 6"		0.026 GM	25,000.00000	650.00				
0385 0711 14125 THERMOPLASTIC, PREFORMED, WHITE, SOLID, 24" FOR CROSSWALK		631.000 LF	25.00000	15,775.00				
0390 0711 16101 THERMOPLASTIC, STANDARD-OTHER SURFACES, WHITE, SOLID, 6"		0.965 GM	7,000.00000	6,755.00				
0395 0711 16131 THERMOPLASTIC, OTHER SURFACES, WHITE, SKIP, 6",10-30 SKIP OR 3-9 LANE DROP		0.709 GM	5,000.00000	3,545.00				
0400 0711 16201 THERMOPLASTIC, STANDARD-OTHER SURFACES, YELLOW, SOLID, 6"		1.306 GM	7,500.00000	9,795.00				



Tabulation of Bids

Letting: 02190515 May 15, 2019

Call Order: 003

Contract: E2Y27

Line No / Item ID Item Description <i>() indicates item is bid as Lump Sum</i>	Alternate	Quantity Units	(1) MAER HOMES, LLC					
			Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount

SECTION: 0002 Signing

0002 Signing Section Totals: \$60,865.00

SECTION: 0003 Signalization

0405	0630 2 12	374.000	38.00000	14,212.00				
	CONDUIT, FURNISH & INSTALL, DIRECTIONAL BORE	LF						
0410	0632 7 2	1,735.000	6.00000	10,410.00				
	SIGNAL CABLE- REPAIR/REPLACE/OTHER, FURNISH & INSTALL	LF						
0415	0632 7 7	340.000	1.00000	340.00				
	SIGNAL CABLE, REMOVE- OUTSIDE OF INTERSECTION	LF						
0420	0633 1420	200.000	24.00000	4,800.00				
	FIBER OPTIC CABLE, RELOCATE, UNDERGROUND	LF						
0425	0635 2 11	9.000	960.00000	8,640.00				
	PULL & SPLICE BOX, F&I, 13" x 24" COVER SIZE	EA						
0430	0639 1420	1.000	2,200.00000	2,200.00				
	ELECTRICAL POWER SERVICE, RELOCATE, UNDERGROUND	AS						
0435	0639 2 1	185.000	5.00000	925.00				
	ELECTRICAL SERVICE WIRE, FURNISH & INSTALL	LF						



Tabulation of Bids

Letting: 02190515 May 15, 2019

Call Order: 003

Contract: E2Y27

Line No / Item ID Item Description <i>() indicates item is bid as Lump Sum</i>	Alternate	Quantity Units	(1) MAER HOMES, LLC					
			Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0003 Signalization								
0440 0639 2 6 ELECTRICAL SERVICE WIRE, REMOVE		180.000 LF	1.00000	180.00				
0445 0646 1 11 ALUMINUM SIGNALS POLE, PEDESTAL		1.000 EA	1,700.00000	1,700.00				
0450 0646 1 12 ALUMINUM SIGNALS POLE, FURNISH & INSTALL PEDESTRIAN DETECTOR POST		5.000 EA	1,500.00000	7,500.00				
0455 0646 1 60 ALUMINUM SIGNALS POLE, REMOVE		1.000 EA	325.00000	325.00				
0460 0653 1 11 PEDESTRIAN SIGNAL, FURNISH & INSTALL LED COUNTDOWN, 1 WAY		3.000 AS	715.00000	2,145.00				
0465 0653 1 12 PEDESTRIAN SIGNAL, FURNISH & INSTALL LED COUNTDOWN, 2 WAYS		3.000 AS	1,500.00000	4,500.00				
0470 0653 1 60 PEDESTRIAN SIGNAL, REMOVE PED SIGNAL- POLE/PEDESTAL TO REMAIN		5.000 AS	32.00000	160.00				
0475 0660 2106 LOOP ASSEMBLY, F&I, TYPE F		15.000 AS	600.00000	9,000.00				



Tabulation of Bids

Letting: 02190515 May 15, 2019

Call Order: 003

Contract: E2Y27

Line No / Item ID Item Description <i>() indicates item is bid as Lump Sum</i>	Alternate	Quantity Units	(1) MAER HOMES, LLC					
			Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount

SECTION: 0003 Signalization

0480	0665 1 11	16.000	380.00000	6,080.00				
	PEDESTRIAN DETECTOR, FURNISH & INSTALL, STANDARD	EA						
0485	0665 1 60	14.000	25.00000	350.00				
	PEDESTRIAN DETECTOR, REMOVE-POLE/PEDESTAL TO REMAIN	EA						
0490	0670 5400	2.000	2,000.00000	4,000.00				
	TRAFFIC CONTROLLER ASSEMBLY, MODIFY	AS						
0495	0700 3501	12.000	32.00000	384.00				
	SIGN PANEL, RELOCATE, UP TO 12 SF	EA						

0003 Signalization Section Totals: \$77,851.00

SECTION: 0004 Utilities

0500	0999 25	(1.000)	10,000.00000	10,000.00				
	INITIAL CONTINGENCY AMOUNT, DO NOT BID 44129815601	LS						
0505	1000 6	(1.000)	82,950.00000	82,950.00				
	UTILITY WORK- JPA/UTILITY AGREEMENT, WATER 44129815601	LS						

0004 Utilities Section Totals: \$92,950.00



Tabulation of Bids

Letting: 02190515 May 15, 2019

Call Order: 003

Contract: E2Y27

Line No / Item ID Item Description <i>() indicates item is bid as Lump Sum</i>	Alternate	Quantity Units	(1) MAER HOMES, LLC					
			Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
Contract Grand Totals:				\$2,191,115.22				



Tabulation of Bids

Letting: 02190515 May 15, 2019 **Call Order:** 003 **Contract:** E2Y27

NOTE: Failure to file a protest within the time prescribed in section 120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes.



Tabulation of Bids

Letting: 02190515 May 15, 2019 **Call Order:** 004 **Contract:** E2Y44-R0
District: District 2 **Counties:** BAKER, COLUMBIA, **Fed Aid No:** N/A
Contract Time: 365 CALENDAR DAYS HAMILTON, **Project(s):** 41021257217 (*)
Contract Descr: Furnish and apply herbicides to roadside Vegetation. SUWANNEE, UNION
 Furnish and apply herbicides to roadside vegetation to treat undesirable weeds, grass and brush on State Roads within the Lake City Operations area. RENEWAL OPTION. BID EXPRESS MANDATORY.

Line No / Item ID Item Description () indicates item is bid as Lump Sum	Alternate	Quantity Units	(1) WATERS BROTHERS ENVIRONMENTAL I					
			Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001 CHEM WEED AND GRASS CONTROL (GA)								
0005 E580337 2 HERBICIDE (STRIP APPLICATION)		215.000 AC	51.05000	10,975.75				
0010 E580337 3 HERBICIDE (SPOT APPLICATION < 100 SF)		740,000.000 SF	0.03100	22,940.00				
0015 E580337 4 HERBICIDE (STRIP APPLICATION)(AQUATIC)		44.000 AC	51.05000	2,246.20				
0020 E580337 6 HERBICIDE (HAND APPLICATION)		67.000 AC	51.05000	3,420.35				
0001 CHEM WEED AND GRASS Section Totals: CONTROL (GA)				\$39,582.30				

Contract Grand Totals: **\$39,582.30**



Tabulation of Bids

Letting: 02190515 May 15, 2019 **Call Order:** 004 **Contract:** E2Y44-R0

NOTE: Failure to file a protest within the time prescribed in section 120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes.



Tabulation of Bids

Letting: 02190515 May 15, 2019

Call Order: 005

Contract: Z2199

District: District 2

Counties: DIST/ST-WIDE

Fed Aid No: N/A

Contract Time: 365 CALENDAR DAYS

Project(s): 4455771E201 (*)

Contract Descr: Pre-Event Emergency Sign Repair and Replacement - Eastern

Eastern Regional Contract for Sign Repair and Replacement Operations pursuant to a Governor's and/or President's Declaration of a State Emergency. This Contract will be an Eastern regional contract that includes Clay, Duval, Nassau, Putnam and St. Johns Counties within District 2. The Contractor shall perform Sign Repair and Replacement Operations pursuant to the terms of this Contract and at the direction of the Department.

The Contractor shall provide a letter to the Department at the time of bid, from a surety authorized to do business in the State of Florida verifying the Contractor is bondable in the State of Florida. For the purposes of this Contract the dollar amount is established at \$500,000.00.

Awarded Contractor must execute documents within five (5) calendar days, excluding Saturdays, Sundays, and state holidays, with General Liability and Worker's Comp Insurance.

No quantities are guaranteed and there will be no unit cost adjustment for quantities required over or under the estimated quantities.

BID EXPRESS MANDATORY.

Line No / Item ID Item Description () indicates item is bid as Lump Sum	Alternate	Quantity Units	(1) ACME BARRICADES, L.C.		(2) TRAFFIC CONTROL DEVICES, INC.		(3) FLORIDA SAFETY CONTRACTORS, INC.	
			Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001 EMER.DELINEATOR/ATTENUATOR/SIGN REPR(EA)								
0005 0630 2 11 CONDUIT, FURNISH & INSTALL, OPEN TRENCH		1.000 LF	20.00000	20.00	10.00000	10.00	25.45000	25.45
0010 0630 2 12 CONDUIT, FURNISH & INSTALL, DIRECTIONAL BORE		1.000 LF	40.00000	40.00	19.00000	19.00	35.78000	35.78
0015 0630 2 14 CONDUIT, FURNISH & INSTALL, ABOVEGROUND		1.000 LF	40.00000	40.00	28.00000	28.00	32.25000	32.25
0020 0630 2 15 CONDUIT, FURNISH & INSTALL, BRIDGE MOUNT		1.000 LF	40.00000	40.00	34.00000	34.00	43.35000	43.35



Tabulation of Bids

Letting: 02190515 May 15, 2019

Call Order: 005

Contract: Z2199

Line No / Item ID Item Description () indicates item is bid as Lump Sum	Alternate	Quantity Units	(1) ACME BARRICADES, L.C.		(2) TRAFFIC CONTROL DEVICES, INC.		(3) FLORIDA SAFETY CONTRACTORS, INC.	
			Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001 EMER.DELINEATOR/ATTENUATOR/SIGN REPR(EA)								
0025 0632 7 2 SIGNAL CABLE- REPAIR/REPLACE/OTHER, FURNISH & INSTALL		1.000 LF	8.00000	8.00	5.00000	5.00	4.09000	4.09
0030 0634 4142 SPAN WIRE ASSEMBLY, F&I, SINGLE POINT, DIAGONAL		1.000 PI	4,000.00000	4,000.00	2,171.00000	2,171.00	1,398.00000	1,398.00
0035 0634 4152 SPAN WIRE ASSEMBLY, F&I, TWO POINT, DIAGONAL		1.000 PI	4,000.00000	4,000.00	3,877.00000	3,877.00	2,796.00000	2,796.00
0040 0635 2 11 PULL & SPLICE BOX, F&I, 13" x 24" COVER SIZE		1.000 EA	2,000.00000	2,000.00	687.00000	687.00	820.89000	820.89
0045 0635 2 12 PULL & SPLICE BOX, F&I, 24" X 36" COVER SIZE		1.000 EA	2,200.00000	2,200.00	1,407.00000	1,407.00	1,441.47000	1,441.47
0050 0639 1111 ELECTRICAL POWER SERVICE, F&I, OVERHEAD, METER FURNISHED BY POWER COMPANY		1.000 AS	6,000.00000	6,000.00	2,652.00000	2,652.00	1,667.26000	1,667.26
0055 0639 1112 ELECTRICAL POWER SERVICE, F&I, OVERHEAD METER PURCHASED BY CONTRACTOR FROM POWER COMPANY		1.000 AS	6,000.00000	6,000.00	2,921.00000	2,921.00	1,667.26000	1,667.26
0060 0639 1113 ELECTRICAL POWER SERVICE, F&I, OVERHEAD METER NOT REQUIRED		1.000 AS	3,000.00000	3,000.00	2,652.00000	2,652.00	1,627.63000	1,627.63



Tabulation of Bids

Letting: 02190515 May 15, 2019

Call Order: 005

Contract: Z2199

Line No / Item ID Item Description () indicates item is bid as Lump Sum	Alternate	Quantity Units	(1) ACME BARRICADES, L.C.		(2) TRAFFIC CONTROL DEVICES, INC.		(3) FLORIDA SAFETY CONTRACTORS, INC.	
			Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001 EMER.DELINEATOR/ATTENUATOR/SIGN REPR(EA)								
0065 0639 1121 ELECTRICAL POWER SERVICE, F&I, UNDERGROUND, METER FURNISHED BY POWER COMPANY	AS	1.000	6,000.00000	6,000.00	2,152.00000	2,152.00	1,667.26000	1,667.26
0070 0639 1122 ELECTRICAL POWER SERVICE, F&I, UNDERGROUND, METER PURCHASED BY CONTRACTOR	AS	1.000	4,000.00000	4,000.00	2,421.00000	2,421.00	1,667.26000	1,667.26
0075 0639 1123 ELECTRICAL POWER SERVICE, F&I, UNDERGROUND, METER NOT REQUIRED	AS	1.000	4,000.00000	4,000.00	2,152.00000	2,152.00	1,627.63000	1,627.63
0080 0641 2 12 PRESTRESSED CONCRETE POLE, F&I, TYPE P-II SERVICE POLE	EA	1.000	3,000.00000	3,000.00	1,319.00000	1,319.00	1,667.38000	1,667.38
0085 0641 2 15 PRESTRESSED CONCRETE POLE, F&I, TYPE P-V	EA	1.000	9,500.00000	9,500.00	7,997.00000	7,997.00	13,979.38000	13,979.38
0090 0670 4 1 INTERSECTION CONTROL BEACON CONTROLLER ASSEMBLY, FURNISH & INSTALL	AS	1.000	2,500.00000	2,500.00	2,011.00000	2,011.00	1,678.53000	1,678.53
0095 0700 1 11 SINGLE POST SIGN, F&I GROUND MOUNT, UP TO 12 SF	AS	1.000	800.00000	800.00	495.00000	495.00	637.05000	637.05
0100 0700 1 12 SINGLE POST SIGN, F&I GROUND MOUNT, 12-20 SF	AS	1.000	2,800.00000	2,800.00	2,148.00000	2,148.00	893.51000	893.51



Tabulation of Bids

Letting: 02190515 May 15, 2019

Call Order: 005

Contract: Z2199

Line No / Item ID Item Description () indicates item is bid as Lump Sum	Alternate	Quantity Units	(1) ACME BARRICADES, L.C.		(2) TRAFFIC CONTROL DEVICES, INC.		(3) FLORIDA SAFETY CONTRACTORS, INC.	
			Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001 EMER.DELINEATOR/ATTENUATOR/SIGN REPR(EA)								
0105 0700 1 13 SINGLE POST SIGN, F&I GROUND MOUNT, 21-30 SF		1.000 AS	3,500.00000	3,500.00	2,957.00000	2,957.00	2,038.27000	2,038.27
0110 0700 1 14 SINGLE POST SIGN, F&I GROUND MOUNT, 31+ SF		1.000 AS	4,500.00000	4,500.00	3,904.00000	3,904.00	2,493.19000	2,493.19
0115 0700 1 21 SINGLE POST SIGN, F&I BARRIER MOUNT INDEX 11871/700-013 UP TO 12 SF		1.000 AS	2,200.00000	2,200.00	3,102.00000	3,102.00	4,126.79000	4,126.79
0120 0700 1 22 SINGLE POST SIGN, F&I BARRIER MOUNT INDEX 11871/700-013, 12-20 SF		1.000 AS	2,400.00000	2,400.00	3,308.00000	3,308.00	4,346.80000	4,346.80
0125 0700 1 31 SINGLE POST SIGN, F&I BRIDGE MOUNT INDEX 11870/700-012, UP TO 12 SF		1.000 AS	3,200.00000	3,200.00	3,500.00000	3,500.00	4,641.97000	4,641.97
0130 0700 1 32 SINGLE POST SIGN, F&I BRIDGE MOUNT INDEX 11870/700-012, 12-20 SF		1.000 AS	3,400.00000	3,400.00	3,702.00000	3,702.00	4,861.99000	4,861.99
0135 0700 1 80 SINGLE POST SIGN, REPAIR		1.000 AS	250.00000	250.00	376.00000	376.00	1,058.67000	1,058.67
0140 0700 1 87 SINGLE POST SIGN, REPAIR- REPLACE POST, USE EXISTING SIGN PANEL		1.000 AS	600.00000	600.00	3,162.00000	3,162.00	839.38000	839.38



Tabulation of Bids

Letting: 02190515 May 15, 2019

Call Order: 005

Contract: Z2199

Line No / Item ID Item Description () indicates item is bid as Lump Sum	Alternate	Quantity Units	(1) ACME BARRICADES, L.C.		(2) TRAFFIC CONTROL DEVICES, INC.		(3) FLORIDA SAFETY CONTRACTORS, INC.	
			Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001 EMER.DELINEATOR/ATTENUATOR/SIGN REPR(EA)								
0145 0700 2 11 MULTI- POST SIGN, F&I GROUND MOUNT, UP TO 12 SF		1.000 AS	3,000.00000	3,000.00	4,174.00000	4,174.00	4,722.40000	4,722.40
0150 0700 2 12 MULTI- POST SIGN, F&I GROUND MOUNT, 12-20 SF		1.000 AS	4,000.00000	4,000.00	4,434.00000	4,434.00	5,071.96000	5,071.96
0155 0700 2 13 MULTI- POST SIGN, F&I GROUND MOUNT, 21-30 SF		1.000 AS	5,600.00000	5,600.00	5,662.00000	5,662.00	5,444.73000	5,444.73
0160 0700 2 14 MULTI- POST SIGN, F&I GROUND MOUNT, 31-50 SF		1.000 AS	6,500.00000	6,500.00	6,637.00000	6,637.00	7,531.14000	7,531.14
0165 0700 2 15 MULTI- POST SIGN, F&I GROUND MOUNT, 51-100 SF		1.000 AS	11,000.00000	11,000.00	7,721.00000	7,721.00	10,141.75000	10,141.75
0170 0700 2 16 MULTI- POST SIGN, F&I GROUND MOUNT, 101-200 SF		1.000 AS	13,000.00000	13,000.00	12,054.00000	12,054.00	13,322.43000	13,322.43
0175 0700 2 17 MULTI- POST SIGN, F&I GROUND MOUNT, 201-300 SF		1.000 AS	18,000.00000	18,000.00	17,342.00000	17,342.00	16,467.91000	16,467.91
0180 0700 2 18 MULTI- POST SIGN, F&I GROUND MOUNT, 301-400 SF		1.000 AS	20,000.00000	20,000.00	23,827.00000	23,827.00	22,729.70000	22,729.70
0185 0700 2 50 MULTI- POST SIGN, GROUND MOUNT, RELOCATE		1.000 AS	6,500.00000	6,500.00	8,899.00000	8,899.00	8,896.16000	8,896.16



Tabulation of Bids

Letting: 02190515 May 15, 2019

Call Order: 005

Contract: Z2199

Line No / Item ID Item Description () indicates item is bid as Lump Sum	Alternate	Quantity Units	(1) ACME BARRICADES, L.C.		(2) TRAFFIC CONTROL DEVICES, INC.		(3) FLORIDA SAFETY CONTRACTORS, INC.	
			Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001 EMER.DELINEATOR/ATTENUATOR/SIGN REPR(EA)								
0190 0700 3101 SIGN PANEL, FURNISH & INSTALL GROUND MOUNT, UP TO 12 SF		1.000 EA	600.00000	600.00	327.00000	327.00	412.18000	412.18
0195 0700 3102 SIGN PANEL, FURNISH & INSTALL GROUND MOUNT, 12-20 SF		1.000 EA	775.00000	775.00	654.00000	654.00	690.40000	690.40
0200 0700 3103 SIGN PANEL, FURNISH & INSTALL GROUND MOUNT, 21-30 SF		1.000 EA	1,800.00000	1,800.00	970.00000	970.00	1,228.73000	1,228.73
0205 0700 3104 SIGN PANEL, FURNISH & INSTALL GROUND MOUNT, 31-50 SF		1.000 EA	2,400.00000	2,400.00	1,864.00000	1,864.00	1,842.65000	1,842.65
0210 0700 3105 SIGN PANEL, FURNISH & INSTALL GROUND MOUNT, 51-100 SF		1.000 EA	4,400.00000	4,400.00	3,345.00000	3,345.00	3,269.10000	3,269.10
0215 0700 3106 SIGN PANEL, FURNISH & INSTALL GROUND MOUNT, 101-200 SF		1.000 EA	6,500.00000	6,500.00	6,553.00000	6,553.00	6,120.00000	6,120.00
0220 0700 3107 SIGN PANEL, FURNISH & INSTALL GROUND MOUNT, 201-300 SF		1.000 EA	10,000.00000	10,000.00	9,472.00000	9,472.00	9,284.47000	9,284.47
0225 0700 3108 SIGN PANEL, FURNISH & INSTALL GROUND MOUNT, 301-400 SF		1.000 EA	12,000.00000	12,000.00	12,666.00000	12,666.00	12,488.59000	12,488.59
0230 0700 3109 SIGN PANEL, FURNISH & INSTALL GROUND MOUNT, 401-500 SF		1.000 EA	15,500.00000	15,500.00	16,264.00000	16,264.00	15,725.96000	15,725.96



Tabulation of Bids

Letting: 02190515 May 15, 2019

Call Order: 005

Contract: Z2199

Line No / Item ID Item Description () indicates item is bid as Lump Sum	Alternate	Quantity Units	(1) ACME BARRICADES, L.C.		(2) TRAFFIC CONTROL DEVICES, INC.		(3) FLORIDA SAFETY CONTRACTORS, INC.	
			Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001 EMER.DELINEATOR/ATTENUATOR/SIGN REPR(EA)								
0235 0700 3201 SIGN PANEL, FURNISH & INSTALL OVERHEAD MOUNT, UP TO 12 SF		1.000 EA	1,000.00000	1,000.00	663.00000	663.00	518.34000	518.34
0240 0700 3202 SIGN PANEL, FURNISH & INSTALL OVERHEAD MOUNT, 12-20 SF		1.000 EA	1,300.00000	1,300.00	987.00000	987.00	1,142.83000	1,142.83
0245 0700 3203 SIGN PANEL, FURNISH & INSTALL OVERHEAD MOUNT, 21-30 SF		1.000 EA	1,800.00000	1,800.00	1,587.00000	1,587.00	1,606.39000	1,606.39
0250 0700 3204 SIGN PANEL, FURNISH & INSTALL OVERHEAD MOUNT, 31-50 SF		1.000 EA	3,200.00000	3,200.00	2,423.00000	2,423.00	2,322.46000	2,322.46
0255 0700 3205 SIGN PANEL, FURNISH & INSTALL OVERHEAD MOUNT, 51-100 SF		1.000 EA	4,700.00000	4,700.00	4,189.00000	4,189.00	3,892.95000	3,892.95
0260 0700 3206 SIGN PANEL, FURNISH & INSTALL OVERHEAD MOUNT, 101-200 SF		1.000 EA	8,000.00000	8,000.00	7,058.00000	7,058.00	7,115.36000	7,115.36
0265 0700 3207 SIGN PANEL, FURNISH & INSTALL OVERHEAD MOUNT, 201-300 SF		1.000 EA	10,500.00000	10,500.00	10,509.00000	10,509.00	10,520.12000	10,520.12
0270 0700 3208 SIGN PANEL, FURNISH & INSTALL OVERHEAD MOUNT, 301-400 SF		1.000 EA	14,000.00000	14,000.00	14,129.00000	14,129.00	13,924.87000	13,924.87
0275 0700 3209 SIGN PANEL, FURNISH & INSTALL OVERHEAD MOUNT, 401-500 SF		1.000 EA	17,500.00000	17,500.00	18,187.00000	18,187.00	17,475.42000	17,475.42



Tabulation of Bids

Letting: 02190515 May 15, 2019

Call Order: 005

Contract: Z2199

Line No / Item ID Item Description () indicates item is bid as Lump Sum	Alternate	Quantity Units	(1) ACME BARRICADES, L.C.		(2) TRAFFIC CONTROL DEVICES, INC.		(3) FLORIDA SAFETY CONTRACTORS, INC.	
			Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001 EMER.DELINEATOR/ATTENUATOR/SIGN REPR(EA)								
0280 0700 3210 SIGN PANEL, FURNISH & INSTALL OVERHEAD MOUNT, 501-600 SF		1.000 EA	15,000.00000	15,000.00	21,739.00000	21,739.00	20,880.18000	20,880.18
0285 0700 3211 SIGN PANEL, FURNISH & INSTALL OVERHEAD MOUNT, 601 SF AND GREATER		1.000 EA	20,000.00000	20,000.00	23,591.00000	23,591.00	26,798.07000	26,798.07
0290 0700 3301 SIGN PANEL, FURNISH & INSTALL BRIDGE MOUNT INDEX 11870/700-012, UP TO 12 SF		1.000 EA	800.00000	800.00	756.00000	756.00	518.34000	518.34
0295 0700 3302 SIGN PANEL, FURNISH & INSTALL BRIDGE MOUNT INDEX 11870/700-012, 12-20 SF		1.000 EA	1,600.00000	1,600.00	1,030.00000	1,030.00	957.42000	957.42
0300 0700 3401 SIGN PANEL, INSTALL, UP TO 12 SF		1.000 EA	275.00000	275.00	272.00000	272.00	225.04000	225.04
0305 0700 3402 SIGN PANEL, INSTALL, 12-20 SF		1.000 EA	300.00000	300.00	310.00000	310.00	516.59000	516.59
0310 0700 3403 SIGN PANEL, INSTALL, 21-30 SF		1.000 EA	500.00000	500.00	427.00000	427.00	662.37000	662.37
0315 0700 3404 SIGN PANEL, INSTALL, 31-50 SF		1.000 EA	500.00000	500.00	657.00000	657.00	887.41000	887.41



Tabulation of Bids

Letting: 02190515 May 15, 2019

Call Order: 005

Contract: Z2199

Line No / Item ID Item Description () indicates item is bid as Lump Sum	Alternate	Quantity Units	(1) ACME BARRICADES, L.C.		(2) TRAFFIC CONTROL DEVICES, INC.		(3) FLORIDA SAFETY CONTRACTORS, INC.	
			Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001 EMER.DELINEATOR/ATTENUATOR/SIGN REPR(EA)								
0320 0700 3405 SIGN PANEL, INSTALL, 51-100 SF		1.000 EA	1,000.00000	1,000.00	1,515.00000	1,515.00	1,033.19000	1,033.19
0325 0700 3406 SIGN PANEL, INSTALL, 101-200 SF		1.000 EA	1,000.00000	1,000.00	2,020.00000	2,020.00	1,324.74000	1,324.74
0330 0700 3407 SIGN PANEL, INSTALL, 201-300 SF		1.000 EA	2,000.00000	2,000.00	2,525.00000	2,525.00	1,549.78000	1,549.78
0335 0700 3408 SIGN PANEL, INSTALL, 301-400 SF		1.000 EA	3,000.00000	3,000.00	3,030.00000	3,030.00	1,695.56000	1,695.56
0340 0700 4111 OVERHEAD STATIC SIGN STRUCTURE, FURNISH & INSTALL, CANTILEVER, UP TO 20 FT		1.000 EA	60,000.00000	60,000.00	63,133.00000	63,133.00	66,107.26000	66,107.26
0345 0700 4112 OVERHEAD STATIC SIGN STRUCTURE, FURNISH & INSTALL, CANTILEVER, 21- 30 FT		1.000 EA	70,000.00000	70,000.00	67,175.00000	67,175.00	72,936.89000	72,936.89
0350 0700 4113 OVERHEAD STATIC SIGN STRUCTURE, FURNISH & INSTALL, CANTILEVER, 31- 40 FT		1.000 EA	90,000.00000	90,000.00	80,637.00000	80,637.00	85,140.30000	85,140.30
0355 0700 4114 OVERHEAD STATIC SIGN STRUCTURE, FURNISH & INSTALL, CANTILEVER, 41- 50 FT		1.000 EA	100,000.00000	100,000.00	95,229.00000	95,229.00	98,729.48000	98,729.48



Tabulation of Bids

Letting: 02190515 May 15, 2019

Call Order: 005

Contract: Z2199

Line No / Item ID Item Description () indicates item is bid as Lump Sum	Alternate	Quantity Units	(1) ACME BARRICADES, L.C.		(2) TRAFFIC CONTROL DEVICES, INC.		(3) FLORIDA SAFETY CONTRACTORS, INC.	
			Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001 EMER.DELINEATOR/ATTENUATOR/SIGN REPR(EA)								
0360 0700 4121 OVERHEAD STATIC SIGN STRUCTURE, FURNISH & INSTALL, SPAN, UP TO 20 FT		1.000 EA	60,000.00000	60,000.00	112,153.00000	112,153.00	140,002.30000	140,002.30
0365 0700 4122 OVERHEAD STATIC SIGN STRUCTURE, FURNISH & INSTALL, SPAN, 21-30 FT		1.000 EA	65,000.00000	65,000.00	114,053.00000	114,053.00	143,718.89000	143,718.89
0370 0700 5 11 INTERNALLY ILLUMINATED SIGN, FURNISH & INSTALL GROUND MOUNT, UP TO 12 SF		1.000 EA	4,500.00000	4,500.00	5,169.00000	5,169.00	4,919.45000	4,919.45
0375 0700 5 21 INTERNALLY ILLUMINATED SIGN, FURNISH & INSTALL OVERHEAD MOUNT, UP TO 12 SF		1.000 EA	4,500.00000	4,500.00	4,909.00000	4,909.00	5,788.25000	5,788.25
0380 0700 5 22 INTERNALLY ILLUMINATED SIGN, FURNISH & INSTALL, OVERHEAD MOUNT, 12-18 SF		1.000 EA	5,000.00000	5,000.00	5,381.00000	5,381.00	6,273.32000	6,273.32
0385 0700 11121 ELECTRONIC DISPLAY SIGN, FURNISH & INSTALL GROUND MOUNT- AC POWERED, ELECTRONIC REGULATORY SIGN, UP TO 12 SF		1.000 AS	8,800.00000	8,800.00	5,003.00000	5,003.00	7,928.16000	7,928.16
0390 0700 11321 ELECTRONIC DISPLAY SIGN, FURNISH & INSTALL OVERHEAD MOUNT- AC POWERED, REGULATORY SIGN, UP TO 12 SF		1.000 AS	9,500.00000	9,500.00	4,315.00000	4,315.00	5,706.09000	5,706.09



Tabulation of Bids

Letting: 02190515 May 15, 2019

Call Order: 005

Contract: Z2199

Line No / Item ID Item Description () indicates item is bid as Lump Sum	Alternate	Quantity Units	(1) ACME BARRICADES, L.C.		(2) TRAFFIC CONTROL DEVICES, INC.		(3) FLORIDA SAFETY CONTRACTORS, INC.	
			Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001 EMER.DELINEATOR/ATTENUATOR/SIGN REPR(EA)								
0395 0700 12 11 SIGN BEACON, F&I GROUND MOUNT- AC POWERED, ONE BEACON	AS	1.000	2,500.00000	2,500.00	2,394.00000	2,394.00	4,385.61000	4,385.61
0400 0700 12 12 SIGN BEACON, F&I GROUND MOUNT- AC POWERED, TWO BEACONS	AS	1.000	2,900.00000	2,900.00	2,869.00000	2,869.00	4,946.71000	4,946.71
0405 0700 12 21 SIGN BEACON, F&I GROUND MOUNT- SOLAR POWERED, ONE BEACON	AS	1.000	4,500.00000	4,500.00	4,192.00000	4,192.00	7,666.47000	7,666.47
0410 0700 12 22 SIGN BEACON, F&I GROUND MOUNT- SOLAR POWERED, TWO BEACONS	AS	1.000	5,000.00000	5,000.00	6,311.00000	6,311.00	9,265.08000	9,265.08
0415 0700 12 31 SIGN BEACON, F&I OVERHEAD MOUNT, ONE BEACON	AS	1.000	7,500.00000	7,500.00	3,994.00000	3,994.00	2,469.36000	2,469.36
0420 0700 12 32 SIGN BEACON, F&I OVERHEAD MOUNT, TWO BEACONS	AS	1.000	8,500.00000	8,500.00	4,427.00000	4,427.00	4,232.77000	4,232.77
0425 0700 12 60 SIGN BEACON, REMOVE BEACON- SIGN TO REMAIN	AS	1.000	100.00000	100.00	310.00000	310.00	145.78000	145.78
0430 0705 10 1 OBJECT MARKER, TYPE 1	EA	1.000	200.00000	200.00	192.00000	192.00	341.61000	341.61
0435 0705 10 2 OBJECT MARKER, TYPE 2	EA	1.000	150.00000	150.00	149.00000	149.00	295.64000	295.64



Tabulation of Bids

Letting: 02190515 May 15, 2019

Call Order: 005

Contract: Z2199

Line No / Item ID Item Description () indicates item is bid as Lump Sum	Alternate	Quantity Units	(1) ACME BARRICADES, L.C.		(2) TRAFFIC CONTROL DEVICES, INC.		(3) FLORIDA SAFETY CONTRACTORS, INC.	
			Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001 EMER.DELINEATOR/ATTENUATOR/SIGN REPR(EA)								
0440 0705 10 3 OBJECT MARKER, TYPE 3		1.000 EA	175.00000	175.00	191.00000	191.00	339.99000	339.99
0445 0705 11 1 DELINEATOR, FLEXIBLE TUBULAR		1.000 EA	100.00000	100.00	128.00000	128.00	172.74000	172.74
0450 0705 11 2 DELINEATOR, NON-FLEXIBLE		1.000 EA	85.00000	85.00	134.00000	134.00	295.61000	295.61
0455 0705 11 3 DELINEATOR, FLEXIBLE HIGH VISABILITY MEDIAN		1.000 EA	200.00000	200.00	209.00000	209.00	267.85000	267.85
0460 0705 11 4 DELINEATOR, FLEXIBLE HIGH PERFORMANCE 48"		1.000 EA	125.00000	125.00	242.00000	242.00	347.11000	347.11
0465 E700 46 32 REPAIR EXISTING SIGN (MULTI POST)		1.000 AS	3,000.00000	3,000.00	2,927.00000	2,927.00	5,357.04000	5,357.04
0001 Section Totals: EMER. DELINEATOR/ATTENUATOR/SI GN REPR(EA)				\$841,883.00		\$907,464.00		\$998,521.94
Contract Grand Totals:				\$841,883.00		\$907,464.00		998,521.94



Tabulation of Bids

Letting: 02190515 May 15, 2019 **Call Order:** 005 **Contract:** Z2199

NOTE: Failure to file a protest within the time prescribed in section 120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes.



Tabulation of Bids

Letting: 02190515 May 15, 2019 **Call Order:** 006 **Contract:** Z2200
District: District 2 **Counties:** DIST/ST-WIDE **Fed Aid No:** N/A
Contract Time: 365 CALENDAR DAYS **Project(s):** 4455771E202 (*)

Contract Descr: Pre-Event Emergency Sign Repair/Replacement - Eastern

Eastern Region Contract for Sign Repair and Replacement Operations pursuant to a Governor's and/or President's Declaration of a State Emergency. This Contract will be an Eastern regional contract that includes Clay, Duval, Nassau, Putnam and St. Johns Counties within District 2 The Contractor shall perform Sign Repair and Replacement Operations pursuant to the terms of this Contract and at the direction of the Department.

The Contractor shall provide a letter to the Department at the time of bid, from a surety authorized to do business in the State of Florida verifying the Contractor is bondable in the State of Florida. For the purposes of this Contract the dollar amount is established at \$500,000.00.

Awarded Contractor must execute documents within five (5) calendar days, excluding Saturdays, Sundays, and state holidays, with General Liability and Worker's Comp Insurance.

No quantities are guaranteed and there will be no unit cost adjustment for quantities required over or under the estimated quantities.

BID EXPRESS MANDATORY.

Line No / Item ID Item Description () indicates item is bid as Lump Sum	Alternate	Quantity Units	(1) ACME BARRICADES, L.C.		(2) TRAFFIC CONTROL DEVICES, INC.		(3) FLORIDA SAFETY CONTRACTORS, INC.	
			Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001 EMER.DELINEATOR/ATTENUATOR/SIGN REPR(EA)								
0005 0630 2 11 CONDUIT, FURNISH & INSTALL, OPEN TRENCH		1.000 LF	20.00000	20.00	10.00000	10.00	25.45000	25.45
0010 0630 2 12 CONDUIT, FURNISH & INSTALL, DIRECTIONAL BORE		1.000 LF	40.00000	40.00	19.00000	19.00	35.78000	35.78
0015 0630 2 14 CONDUIT, FURNISH & INSTALL, ABOVEGROUND		1.000 LF	40.00000	40.00	28.00000	28.00	32.25000	32.25
0020 0630 2 15 CONDUIT, FURNISH & INSTALL, BRIDGE MOUNT		1.000 LF	40.00000	40.00	34.00000	34.00	43.35000	43.35



Tabulation of Bids

Letting: 02190515 May 15, 2019

Call Order: 006

Contract: Z2200

Line No / Item ID Item Description () indicates item is bid as Lump Sum	Alternate	Quantity Units	(1) ACME BARRICADES, L.C.		(2) TRAFFIC CONTROL DEVICES, INC.		(3) FLORIDA SAFETY CONTRACTORS, INC.	
			Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001 EMER.DELINEATOR/ATTENUATOR/SIGN REPR(EA)								
0025 0632 7 2 SIGNAL CABLE- REPAIR/REPLACE/OTHER, FURNISH & INSTALL		1.000 LF	8.00000	8.00	5.00000	5.00	4.09000	4.09
0030 0634 4142 SPAN WIRE ASSEMBLY, F&I, SINGLE POINT, DIAGONAL		1.000 PI	4,000.00000	4,000.00	2,171.00000	2,171.00	1,398.00000	1,398.00
0035 0634 4152 SPAN WIRE ASSEMBLY, F&I, TWO POINT, DIAGONAL		1.000 PI	4,000.00000	4,000.00	3,877.00000	3,877.00	2,796.00000	2,796.00
0040 0635 2 11 PULL & SPLICE BOX, F&I, 13" x 24" COVER SIZE		1.000 EA	2,000.00000	2,000.00	687.00000	687.00	820.89000	820.89
0045 0635 2 12 PULL & SPLICE BOX, F&I, 24" X 36" COVER SIZE		1.000 EA	2,200.00000	2,200.00	1,407.00000	1,407.00	1,441.47000	1,441.47
0050 0639 1111 ELECTRICAL POWER SERVICE, F&I, OVERHEAD, METER FURNISHED BY POWER COMPANY		1.000 AS	6,000.00000	6,000.00	2,652.00000	2,652.00	1,667.26000	1,667.26
0055 0639 1112 ELECTRICAL POWER SERVICE, F&I, OVERHEAD METER PURCHASED BY CONTRACTOR FROM POWER COMPANY		1.000 AS	6,000.00000	6,000.00	2,921.00000	2,921.00	1,667.26000	1,667.26
0060 0639 1113 ELECTRICAL POWER SERVICE, F&I, OVERHEAD METER NOT REQUIRED		1.000 AS	3,000.00000	3,000.00	2,652.00000	2,652.00	1,627.63000	1,627.63



Tabulation of Bids

Letting: 02190515 May 15, 2019

Call Order: 006

Contract: Z2200

Line No / Item ID Item Description () indicates item is bid as Lump Sum	Alternate	Quantity Units	(1) ACME BARRICADES, L.C.		(2) TRAFFIC CONTROL DEVICES, INC.		(3) FLORIDA SAFETY CONTRACTORS, INC.	
			Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001 EMER.DELINEATOR/ATTENUATOR/SIGN REPR(EA)								
0065 0639 1121 ELECTRICAL POWER SERVICE, F&I, UNDERGROUND, METER FURNISHED BY POWER COMPANY	AS	1.000	6,000.00000	6,000.00	2,152.00000	2,152.00	1,667.26000	1,667.26
0070 0639 1122 ELECTRICAL POWER SERVICE, F&I, UNDERGROUND, METER PURCHASED BY CONTRACTOR	AS	1.000	4,000.00000	4,000.00	2,421.00000	2,421.00	1,667.26000	1,667.26
0075 0639 1123 ELECTRICAL POWER SERVICE, F&I, UNDERGROUND, METER NOT REQUIRED	AS	1.000	4,000.00000	4,000.00	2,152.00000	2,152.00	1,627.63000	1,627.63
0080 0641 2 12 PRESTRESSED CONCRETE POLE, F&I, TYPE P-II SERVICE POLE	EA	1.000	3,000.00000	3,000.00	1,319.00000	1,319.00	1,667.38000	1,667.38
0085 0641 2 15 PRESTRESSED CONCRETE POLE, F&I, TYPE P-V	EA	1.000	9,500.00000	9,500.00	7,997.00000	7,997.00	13,979.38000	13,979.38
0090 0670 4 1 INTERSECTION CONTROL BEACON CONTROLLER ASSEMBLY, FURNISH & INSTALL	AS	1.000	2,500.00000	2,500.00	2,011.00000	2,011.00	1,678.53000	1,678.53
0095 0700 1 11 SINGLE POST SIGN, F&I GROUND MOUNT, UP TO 12 SF	AS	1.000	800.00000	800.00	495.00000	495.00	637.05000	637.05
0100 0700 1 12 SINGLE POST SIGN, F&I GROUND MOUNT, 12-20 SF	AS	1.000	2,800.00000	2,800.00	2,148.00000	2,148.00	893.51000	893.51



Tabulation of Bids

Letting: 02190515 May 15, 2019

Call Order: 006

Contract: Z2200

Line No / Item ID Item Description () indicates item is bid as Lump Sum	Alternate	Quantity Units	(1) ACME BARRICADES, L.C.		(2) TRAFFIC CONTROL DEVICES, INC.		(3) FLORIDA SAFETY CONTRACTORS, INC.	
			Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001 EMER.DELINEATOR/ATTENUATOR/SIGN REPR(EA)								
0105 0700 1 13 SINGLE POST SIGN, F&I GROUND MOUNT, 21-30 SF		1.000 AS	3,500.00000	3,500.00	2,957.00000	2,957.00	2,038.27000	2,038.27
0110 0700 1 14 SINGLE POST SIGN, F&I GROUND MOUNT, 31+ SF		1.000 AS	4,500.00000	4,500.00	3,904.00000	3,904.00	2,493.19000	2,493.19
0115 0700 1 21 SINGLE POST SIGN, F&I BARRIER MOUNT INDEX 11871/700-013 UP TO 12 SF		1.000 AS	2,200.00000	2,200.00	3,102.00000	3,102.00	4,126.79000	4,126.79
0120 0700 1 22 SINGLE POST SIGN, F&I BARRIER MOUNT INDEX 11871/700-013, 12-20 SF		1.000 AS	2,400.00000	2,400.00	3,308.00000	3,308.00	4,346.80000	4,346.80
0125 0700 1 31 SINGLE POST SIGN, F&I BRIDGE MOUNT INDEX 11870/700-012, UP TO 12 SF		1.000 AS	3,200.00000	3,200.00	3,500.00000	3,500.00	4,641.97000	4,641.97
0130 0700 1 32 SINGLE POST SIGN, F&I BRIDGE MOUNT INDEX 11870/700-012, 12-20 SF		1.000 AS	3,400.00000	3,400.00	3,702.00000	3,702.00	4,861.99000	4,861.99
0135 0700 1 80 SINGLE POST SIGN, REPAIR		1.000 AS	250.00000	250.00	376.00000	376.00	1,058.67000	1,058.67
0140 0700 1 87 SINGLE POST SIGN, REPAIR- REPLACE POST, USE EXISTING SIGN PANEL		1.000 AS	600.00000	600.00	3,162.00000	3,162.00	839.38000	839.38



Tabulation of Bids

Letting: 02190515 May 15, 2019

Call Order: 006

Contract: Z2200

Line No / Item ID Item Description () indicates item is bid as Lump Sum	Alternate	Quantity Units	(1) ACME BARRICADES, L.C.		(2) TRAFFIC CONTROL DEVICES, INC.		(3) FLORIDA SAFETY CONTRACTORS, INC.	
			Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001 EMER.DELINEATOR/ATTENUATOR/SIGN REPR(EA)								
0145 0700 2 11 MULTI- POST SIGN, F&I GROUND MOUNT, UP TO 12 SF		1.000 AS	3,000.00000	3,000.00	4,174.00000	4,174.00	4,722.40000	4,722.40
0150 0700 2 12 MULTI- POST SIGN, F&I GROUND MOUNT, 12-20 SF		1.000 AS	4,000.00000	4,000.00	4,434.00000	4,434.00	5,071.96000	5,071.96
0155 0700 2 13 MULTI- POST SIGN, F&I GROUND MOUNT, 21-30 SF		1.000 AS	5,600.00000	5,600.00	5,662.00000	5,662.00	5,444.73000	5,444.73
0160 0700 2 14 MULTI- POST SIGN, F&I GROUND MOUNT, 31-50 SF		1.000 AS	6,500.00000	6,500.00	6,637.00000	6,637.00	7,531.14000	7,531.14
0165 0700 2 15 MULTI- POST SIGN, F&I GROUND MOUNT, 51-100 SF		1.000 AS	11,000.00000	11,000.00	7,721.00000	7,721.00	10,141.75000	10,141.75
0170 0700 2 16 MULTI- POST SIGN, F&I GROUND MOUNT, 101-200 SF		1.000 AS	13,000.00000	13,000.00	12,054.00000	12,054.00	13,322.43000	13,322.43
0175 0700 2 17 MULTI- POST SIGN, F&I GROUND MOUNT, 201-300 SF		1.000 AS	18,000.00000	18,000.00	17,342.00000	17,342.00	16,467.91000	16,467.91
0180 0700 2 18 MULTI- POST SIGN, F&I GROUND MOUNT, 301-400 SF		1.000 AS	20,000.00000	20,000.00	23,827.00000	23,827.00	22,729.70000	22,729.70
0185 0700 2 50 MULTI- POST SIGN, GROUND MOUNT, RELOCATE		1.000 AS	6,500.00000	6,500.00	8,899.00000	8,899.00	8,896.16000	8,896.16



Tabulation of Bids

Letting: 02190515 May 15, 2019

Call Order: 006

Contract: Z2200

Line No / Item ID Item Description () indicates item is bid as Lump Sum	Alternate	Quantity Units	(1) ACME BARRICADES, L.C.		(2) TRAFFIC CONTROL DEVICES, INC.		(3) FLORIDA SAFETY CONTRACTORS, INC.	
			Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001 EMER.DELINEATOR/ATTENUATOR/SIGN REPR(EA)								
0190 0700 3101 SIGN PANEL, FURNISH & INSTALL GROUND MOUNT, UP TO 12 SF		1.000 EA	600.00000	600.00	327.00000	327.00	412.18000	412.18
0195 0700 3102 SIGN PANEL, FURNISH & INSTALL GROUND MOUNT, 12-20 SF		1.000 EA	775.00000	775.00	654.00000	654.00	690.40000	690.40
0200 0700 3103 SIGN PANEL, FURNISH & INSTALL GROUND MOUNT, 21-30 SF		1.000 EA	1,800.00000	1,800.00	970.00000	970.00	1,228.73000	1,228.73
0205 0700 3104 SIGN PANEL, FURNISH & INSTALL GROUND MOUNT, 31-50 SF		1.000 EA	2,400.00000	2,400.00	1,864.00000	1,864.00	1,842.65000	1,842.65
0210 0700 3105 SIGN PANEL, FURNISH & INSTALL GROUND MOUNT, 51-100 SF		1.000 EA	4,400.00000	4,400.00	3,345.00000	3,345.00	3,269.10000	3,269.10
0215 0700 3106 SIGN PANEL, FURNISH & INSTALL GROUND MOUNT, 101-200 SF		1.000 EA	6,500.00000	6,500.00	6,553.00000	6,553.00	6,120.00000	6,120.00
0220 0700 3107 SIGN PANEL, FURNISH & INSTALL GROUND MOUNT, 201-300 SF		1.000 EA	10,000.00000	10,000.00	9,472.00000	9,472.00	9,284.47000	9,284.47
0225 0700 3108 SIGN PANEL, FURNISH & INSTALL GROUND MOUNT, 301-400 SF		1.000 EA	12,000.00000	12,000.00	12,666.00000	12,666.00	12,488.59000	12,488.59
0230 0700 3109 SIGN PANEL, FURNISH & INSTALL GROUND MOUNT, 401-500 SF		1.000 EA	15,500.00000	15,500.00	16,264.00000	16,264.00	15,725.96000	15,725.96



Tabulation of Bids

Letting: 02190515 May 15, 2019

Call Order: 006

Contract: Z2200

Line No / Item ID Item Description () indicates item is bid as Lump Sum	Alternate	Quantity Units	(1) ACME BARRICADES, L.C.		(2) TRAFFIC CONTROL DEVICES, INC.		(3) FLORIDA SAFETY CONTRACTORS, INC.	
			Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001 EMER.DELINEATOR/ATTENUATOR/SIGN REPR(EA)								
0235 0700 3201 SIGN PANEL, FURNISH & INSTALL OVERHEAD MOUNT, UP TO 12 SF		1.000 EA	1,000.00000	1,000.00	663.00000	663.00	518.34000	518.34
0240 0700 3202 SIGN PANEL, FURNISH & INSTALL OVERHEAD MOUNT, 12-20 SF		1.000 EA	1,300.00000	1,300.00	987.00000	987.00	1,142.83000	1,142.83
0245 0700 3203 SIGN PANEL, FURNISH & INSTALL OVERHEAD MOUNT, 21-30 SF		1.000 EA	1,800.00000	1,800.00	1,587.00000	1,587.00	1,606.39000	1,606.39
0250 0700 3204 SIGN PANEL, FURNISH & INSTALL OVERHEAD MOUNT, 31-50 SF		1.000 EA	3,200.00000	3,200.00	2,423.00000	2,423.00	2,322.46000	2,322.46
0255 0700 3205 SIGN PANEL, FURNISH & INSTALL OVERHEAD MOUNT, 51-100 SF		1.000 EA	4,700.00000	4,700.00	4,189.00000	4,189.00	3,892.95000	3,892.95
0260 0700 3206 SIGN PANEL, FURNISH & INSTALL OVERHEAD MOUNT, 101-200 SF		1.000 EA	8,000.00000	8,000.00	7,058.00000	7,058.00	7,115.36000	7,115.36
0265 0700 3207 SIGN PANEL, FURNISH & INSTALL OVERHEAD MOUNT, 201-300 SF		1.000 EA	10,500.00000	10,500.00	10,509.00000	10,509.00	10,520.12000	10,520.12
0270 0700 3208 SIGN PANEL, FURNISH & INSTALL OVERHEAD MOUNT, 301-400 SF		1.000 EA	14,000.00000	14,000.00	14,129.00000	14,129.00	13,924.87000	13,924.87
0275 0700 3209 SIGN PANEL, FURNISH & INSTALL OVERHEAD MOUNT, 401-500 SF		1.000 EA	17,500.00000	17,500.00	18,187.00000	18,187.00	17,475.42000	17,475.42



Tabulation of Bids

Letting: 02190515 May 15, 2019

Call Order: 006

Contract: Z2200

Line No / Item ID Item Description () indicates item is bid as Lump Sum	Alternate	Quantity Units	(1) ACME BARRICADES, L.C.		(2) TRAFFIC CONTROL DEVICES, INC.		(3) FLORIDA SAFETY CONTRACTORS, INC.	
			Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001 EMER.DELINEATOR/ATTENUATOR/SIGN REPR(EA)								
0280 0700 3210 SIGN PANEL, FURNISH & INSTALL OVERHEAD MOUNT, 501-600 SF		1.000 EA	15,000.00000	15,000.00	21,739.00000	21,739.00	20,880.18000	20,880.18
0285 0700 3211 SIGN PANEL, FURNISH & INSTALL OVERHEAD MOUNT, 601 SF AND GREATER		1.000 EA	20,000.00000	20,000.00	23,591.00000	23,591.00	26,798.07000	26,798.07
0290 0700 3301 SIGN PANEL, FURNISH & INSTALL BRIDGE MOUNT INDEX 11870/700-012, UP TO 12 SF		1.000 EA	800.00000	800.00	756.00000	756.00	518.34000	518.34
0295 0700 3302 SIGN PANEL, FURNISH & INSTALL BRIDGE MOUNT INDEX 11870/700-012, 12-20 SF		1.000 EA	1,600.00000	1,600.00	1,030.00000	1,030.00	957.42000	957.42
0300 0700 3401 SIGN PANEL, INSTALL, UP TO 12 SF		1.000 EA	275.00000	275.00	272.00000	272.00	225.04000	225.04
0305 0700 3402 SIGN PANEL, INSTALL, 12-20 SF		1.000 EA	300.00000	300.00	310.00000	310.00	516.59000	516.59
0310 0700 3403 SIGN PANEL, INSTALL, 21-30 SF		1.000 EA	500.00000	500.00	427.00000	427.00	662.37000	662.37
0315 0700 3404 SIGN PANEL, INSTALL, 31-50 SF		1.000 EA	500.00000	500.00	657.00000	657.00	887.41000	887.41



Tabulation of Bids

Letting: 02190515 May 15, 2019

Call Order: 006

Contract: Z2200

Line No / Item ID Item Description () indicates item is bid as Lump Sum	Alternate	Quantity Units	(1) ACME BARRICADES, L.C.		(2) TRAFFIC CONTROL DEVICES, INC.		(3) FLORIDA SAFETY CONTRACTORS, INC.	
			Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001 EMER.DELINEATOR/ATTENUATOR/SIGN REPR(EA)								
0320 0700 3405 SIGN PANEL, INSTALL, 51-100 SF		1.000 EA	1,000.00000	1,000.00	1,515.00000	1,515.00	1,033.19000	1,033.19
0325 0700 3406 SIGN PANEL, INSTALL, 101-200 SF		1.000 EA	1,000.00000	1,000.00	2,020.00000	2,020.00	1,324.74000	1,324.74
0330 0700 3407 SIGN PANEL, INSTALL, 201-300 SF		1.000 EA	2,000.00000	2,000.00	2,525.00000	2,525.00	1,549.78000	1,549.78
0335 0700 3408 SIGN PANEL, INSTALL, 301-400 SF		1.000 EA	3,000.00000	3,000.00	3,030.00000	3,030.00	1,695.56000	1,695.56
0340 0700 4111 OVERHEAD STATIC SIGN STRUCTURE, FURNISH & INSTALL, CANTILEVER, UP TO 20 FT		1.000 EA	60,000.00000	60,000.00	63,133.00000	63,133.00	66,107.26000	66,107.26
0345 0700 4112 OVERHEAD STATIC SIGN STRUCTURE, FURNISH & INSTALL, CANTILEVER, 21- 30 FT		1.000 EA	70,000.00000	70,000.00	67,175.00000	67,175.00	72,936.89000	72,936.89
0350 0700 4113 OVERHEAD STATIC SIGN STRUCTURE, FURNISH & INSTALL, CANTILEVER, 31- 40 FT		1.000 EA	90,000.00000	90,000.00	80,637.00000	80,637.00	85,140.30000	85,140.30
0355 0700 4114 OVERHEAD STATIC SIGN STRUCTURE, FURNISH & INSTALL, CANTILEVER, 41- 50 FT		1.000 EA	100,000.00000	100,000.00	95,229.00000	95,229.00	98,729.48000	98,729.48



Tabulation of Bids

Letting: 02190515 May 15, 2019

Call Order: 006

Contract: Z2200

Line No / Item ID Item Description () indicates item is bid as Lump Sum	Alternate	Quantity Units	(1) ACME BARRICADES, L.C.		(2) TRAFFIC CONTROL DEVICES, INC.		(3) FLORIDA SAFETY CONTRACTORS, INC.	
			Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001 EMER.DELINEATOR/ATTENUATOR/SIGN REPR(EA)								
0360 0700 4121 OVERHEAD STATIC SIGN STRUCTURE, FURNISH & INSTALL, SPAN, UP TO 20 FT		1.000 EA	60,000.00000	60,000.00	112,153.00000	112,153.00	140,002.30000	140,002.30
0365 0700 4122 OVERHEAD STATIC SIGN STRUCTURE, FURNISH & INSTALL, SPAN, 21-30 FT		1.000 EA	65,000.00000	65,000.00	114,053.00000	114,053.00	143,718.89000	143,718.89
0370 0700 5 11 INTERNALLY ILLUMINATED SIGN, FURNISH & INSTALL GROUND MOUNT, UP TO 12 SF		1.000 EA	4,500.00000	4,500.00	5,169.00000	5,169.00	4,919.45000	4,919.45
0375 0700 5 21 INTERNALLY ILLUMINATED SIGN, FURNISH & INSTALL OVERHEAD MOUNT, UP TO 12 SF		1.000 EA	4,500.00000	4,500.00	4,909.00000	4,909.00	5,788.25000	5,788.25
0380 0700 5 22 INTERNALLY ILLUMINATED SIGN, FURNISH & INSTALL, OVERHEAD MOUNT, 12-18 SF		1.000 EA	5,000.00000	5,000.00	5,381.00000	5,381.00	6,273.32000	6,273.32
0385 0700 11121 ELECTRONIC DISPLAY SIGN, FURNISH & INSTALL GROUND MOUNT- AC POWERED, ELECTRONIC REGULATORY SIGN, UP TO 12 SF		1.000 AS	8,800.00000	8,800.00	5,003.00000	5,003.00	7,928.16000	7,928.16
0390 0700 11321 ELECTRONIC DISPLAY SIGN, FURNISH & INSTALL OVERHEAD MOUNT- AC POWERED, REGULATORY SIGN, UP TO 12 SF		1.000 AS	9,500.00000	9,500.00	4,315.00000	4,315.00	5,706.09000	5,706.09



Tabulation of Bids

Letting: 02190515 May 15, 2019

Call Order: 006

Contract: Z2200

Line No / Item ID Item Description () indicates item is bid as Lump Sum	Alternate	Quantity Units	(1) ACME BARRICADES, L.C.		(2) TRAFFIC CONTROL DEVICES, INC.		(3) FLORIDA SAFETY CONTRACTORS, INC.	
			Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001 EMER.DELINEATOR/ATTENUATOR/SIGN REPR(EA)								
0395 0700 12 11 SIGN BEACON, F&I GROUND MOUNT- AC POWERED, ONE BEACON	AS	1.000	2,500.00000	2,500.00	2,394.00000	2,394.00	4,385.61000	4,385.61
0400 0700 12 12 SIGN BEACON, F&I GROUND MOUNT- AC POWERED, TWO BEACONS	AS	1.000	2,900.00000	2,900.00	2,869.00000	2,869.00	4,946.71000	4,946.71
0405 0700 12 21 SIGN BEACON, F&I GROUND MOUNT- SOLAR POWERED, ONE BEACON	AS	1.000	4,500.00000	4,500.00	4,192.00000	4,192.00	7,666.47000	7,666.47
0410 0700 12 22 SIGN BEACON, F&I GROUND MOUNT- SOLAR POWERED, TWO BEACONS	AS	1.000	5,000.00000	5,000.00	6,311.00000	6,311.00	9,265.08000	9,265.08
0415 0700 12 31 SIGN BEACON, F&I OVERHEAD MOUNT, ONE BEACON	AS	1.000	7,500.00000	7,500.00	3,994.00000	3,994.00	2,469.36000	2,469.36
0420 0700 12 32 SIGN BEACON, F&I OVERHEAD MOUNT, TWO BEACONS	AS	1.000	8,500.00000	8,500.00	4,427.00000	4,427.00	4,232.77000	4,232.77
0425 0700 12 60 SIGN BEACON, REMOVE BEACON- SIGN TO REMAIN	AS	1.000	100.00000	100.00	310.00000	310.00	145.78000	145.78
0430 0705 10 1 OBJECT MARKER, TYPE 1	EA	1.000	200.00000	200.00	192.00000	192.00	341.61000	341.61
0435 0705 10 2 OBJECT MARKER, TYPE 2	EA	1.000	150.00000	150.00	149.00000	149.00	295.64000	295.64



Tabulation of Bids

Letting: 02190515 May 15, 2019

Call Order: 006

Contract: Z2200

Line No / Item ID Item Description () indicates item is bid as Lump Sum	Alternate	Quantity Units	(1) ACME BARRICADES, L.C.		(2) TRAFFIC CONTROL DEVICES, INC.		(3) FLORIDA SAFETY CONTRACTORS, INC.	
			Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001 EMER.DELINEATOR/ATTENUATOR/SIGN REPR(EA)								
0440 0705 10 3 OBJECT MARKER, TYPE 3		1.000 EA	175.00000	175.00	191.00000	191.00	339.99000	339.99
0445 0705 11 1 DELINEATOR, FLEXIBLE TUBULAR		1.000 EA	100.00000	100.00	128.00000	128.00	172.74000	172.74
0450 0705 11 2 DELINEATOR, NON-FLEXIBLE		1.000 EA	85.00000	85.00	134.00000	134.00	295.61000	295.61
0455 0705 11 3 DELINEATOR, FLEXIBLE HIGH VISABILITY MEDIAN		1.000 EA	200.00000	200.00	209.00000	209.00	267.85000	267.85
0460 0705 11 4 DELINEATOR, FLEXIBLE HIGH PERFORMANCE 48"		1.000 EA	125.00000	125.00	242.00000	242.00	347.11000	347.11
0465 E700 46 32 REPAIR EXISTING SIGN (MULTI POST)		1.000 AS	3,000.00000	3,000.00	2,927.00000	2,927.00	5,357.04000	5,357.04
0001 Section Totals: EMER. DELINEATOR/ATTENUATOR/SI GN REPR(EA)				\$841,883.00		\$907,464.00		\$998,521.94
Contract Grand Totals:				\$841,883.00		\$907,464.00		998,521.94



Tabulation of Bids

Letting: 02190515 May 15, 2019 **Call Order:** 006 **Contract:** Z2200

NOTE: Failure to file a protest within the time prescribed in section 120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes.



Tabulation of Bids

Letting: 02190515 May 15, 2019

Call Order: 007

Contract: Z2201

District: District 2

Counties: DIST/ST-WIDE

Fed Aid No: N/A

Contract Time: 365 CALENDAR DAYS

Project(s): 4455791E201 (*)

Contract Descr: Pre-Event Emergency Sign Repair/Replacement - Western

Western Region Contract for Sign Repair and Replacement Operations pursuant to a Governor's and/or President's Declaration of a State Emergency. This Contract will be a Western regional contract that includes Alachua, Baker, Bradford, Clay, Columbia, Dixie, Gilchrist, Hamilton, Lafayette, Levy, Madison, Suwannee, Taylor and Union counties within District 2. The Contractor shall perform Sign Repair and Replacement Operations pursuant to the terms of this Contract and at the direction of the Department.

The Contractor shall provide a letter to the Department at the time of bid, from a surety authorized to do business in the State of Florida verifying the Contractor is bondable in the State of Florida. For the purposes of this Contract the dollar amount is established at \$500,000.00.

Awarded Contractor must execute documents within five (5) calendar days, excluding Saturdays, Sundays, and state holidays, with General Liability and Worker's Comp Insurance.

No quantities are guaranteed and there will be no unit cost adjustment for quantities required over or under the estimated quantities.

BID EXPRESS MANDATORY.

Line No / Item ID Item Description () indicates item is bid as Lump Sum	Alternate	Quantity Units	(1) ACME BARRICADES, L.C.		(2) TRAFFIC CONTROL DEVICES, INC.		(3) FLORIDA SAFETY CONTRACTORS, INC.	
			Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001 EMER.DELINEATOR/ATTENUATOR/SIGN REPR(EA)								
0005 0630 2 11 CONDUIT, FURNISH & INSTALL, OPEN TRENCH		1.000 LF	20.00000	20.00	10.00000	10.00	25.45000	25.45
0010 0630 2 12 CONDUIT, FURNISH & INSTALL, DIRECTIONAL BORE		1.000 LF	40.00000	40.00	20.00000	20.00	35.78000	35.78
0015 0630 2 14 CONDUIT, FURNISH & INSTALL, ABOVEGROUND		1.000 LF	40.00000	40.00	28.00000	28.00	32.25000	32.25
0020 0630 2 15 CONDUIT, FURNISH & INSTALL, BRIDGE MOUNT		1.000 LF	40.00000	40.00	34.00000	34.00	43.35000	43.35



Tabulation of Bids

Letting: 02190515 May 15, 2019

Call Order: 007

Contract: Z2201

Line No / Item ID Item Description () indicates item is bid as Lump Sum	Alternate	Quantity Units	(1) ACME BARRICADES, L.C.		(2) TRAFFIC CONTROL DEVICES, INC.		(3) FLORIDA SAFETY CONTRACTORS, INC.	
			Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001 EMER.DELINEATOR/ATTENUATOR/SIGN REPR(EA)								
0025 0632 7 2 SIGNAL CABLE- REPAIR/REPLACE/OTHER, FURNISH & INSTALL		1.000 LF	8.00000	8.00	5.00000	5.00	4.09000	4.09
0030 0634 4142 SPAN WIRE ASSEMBLY, F&I, SINGLE POINT, DIAGONAL		1.000 PI	4,000.00000	4,000.00	2,171.00000	2,171.00	1,398.00000	1,398.00
0035 0634 4152 SPAN WIRE ASSEMBLY, F&I, TWO POINT, DIAGONAL		1.000 PI	4,000.00000	4,000.00	3,877.00000	3,877.00	2,796.00000	2,796.00
0040 0635 2 11 PULL & SPLICE BOX, F&I, 13" x 24" COVER SIZE		1.000 EA	2,000.00000	2,000.00	687.00000	687.00	820.89000	820.89
0045 0635 2 12 PULL & SPLICE BOX, F&I, 24" X 36" COVER SIZE		1.000 EA	2,200.00000	2,200.00	1,407.00000	1,407.00	1,441.47000	1,441.47
0050 0639 1111 ELECTRICAL POWER SERVICE, F&I, OVERHEAD, METER FURNISHED BY POWER COMPANY		1.000 AS	6,000.00000	6,000.00	2,833.00000	2,833.00	1,667.26000	1,667.26
0055 0639 1112 ELECTRICAL POWER SERVICE, F&I, OVERHEAD METER PURCHASED BY CONTRACTOR FROM POWER COMPANY		1.000 AS	6,000.00000	6,000.00	3,103.00000	3,103.00	1,667.26000	1,667.26
0060 0639 1113 ELECTRICAL POWER SERVICE, F&I, OVERHEAD METER NOT REQUIRED		1.000 AS	3,000.00000	3,000.00	2,833.00000	2,833.00	1,627.63000	1,627.63



Tabulation of Bids

Letting: 02190515 May 15, 2019

Call Order: 007

Contract: Z2201

Line No / Item ID Item Description () indicates item is bid as Lump Sum	Alternate	Quantity Units	(1) ACME BARRICADES, L.C.		(2) TRAFFIC CONTROL DEVICES, INC.		(3) FLORIDA SAFETY CONTRACTORS, INC.	
			Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001 EMER.DELINEATOR/ATTENUATOR/SIGN REPR(EA)								
0065 0639 1121 ELECTRICAL POWER SERVICE, F&I, UNDERGROUND, METER FURNISHED BY POWER COMPANY		1.000 AS	6,000.00000	6,000.00	2,333.00000	2,333.00	1,667.26000	1,667.26
0070 0639 1122 ELECTRICAL POWER SERVICE, F&I, UNDERGROUND, METER PURCHASED BY CONTRACTOR		1.000 AS	4,000.00000	4,000.00	2,602.00000	2,602.00	1,667.26000	1,667.26
0075 0639 1123 ELECTRICAL POWER SERVICE, F&I, UNDERGROUND, METER NOT REQUIRED		1.000 AS	4,000.00000	4,000.00	2,333.00000	2,333.00	1,627.63000	1,627.63
0080 0641 2 12 PRESTRESSED CONCRETE POLE, F&I, TYPE P-II SERVICE POLE		1.000 EA	3,000.00000	3,000.00	1,319.00000	1,319.00	1,667.38000	1,667.38
0085 0641 2 15 PRESTRESSED CONCRETE POLE, F&I, TYPE P-V		1.000 EA	9,500.00000	9,500.00	8,015.00000	8,015.00	13,979.38000	13,979.38
0090 0670 4 1 INTERSECTION CONTROL BEACON CONTROLLER ASSEMBLY, FURNISH & INSTALL		1.000 AS	2,500.00000	2,500.00	2,011.00000	2,011.00	1,678.53000	1,678.53
0095 0700 1 11 SINGLE POST SIGN, F&I GROUND MOUNT, UP TO 12 SF		1.000 AS	800.00000	800.00	495.00000	495.00	637.05000	637.05
0100 0700 1 12 SINGLE POST SIGN, F&I GROUND MOUNT, 12-20 SF		1.000 AS	2,800.00000	2,800.00	2,148.00000	2,148.00	893.51000	893.51



Tabulation of Bids

Letting: 02190515 May 15, 2019

Call Order: 007

Contract: Z2201

Line No / Item ID Item Description () indicates item is bid as Lump Sum	Alternate	Quantity Units	(1) ACME BARRICADES, L.C.		(2) TRAFFIC CONTROL DEVICES, INC.		(3) FLORIDA SAFETY CONTRACTORS, INC.	
			Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001 EMER.DELINEATOR/ATTENUATOR/SIGN REPR(EA)								
0105 0700 1 13 SINGLE POST SIGN, F&I GROUND MOUNT, 21-30 SF		1.000 AS	3,500.00000	3,500.00	2,957.00000	2,957.00	2,038.27000	2,038.27
0110 0700 1 14 SINGLE POST SIGN, F&I GROUND MOUNT, 31+ SF		1.000 AS	4,500.00000	4,500.00	3,904.00000	3,904.00	2,493.19000	2,493.19
0115 0700 1 21 SINGLE POST SIGN, F&I BARRIER MOUNT INDEX 11871/700-013 UP TO 12 SF		1.000 AS	2,200.00000	2,200.00	3,102.00000	3,102.00	4,126.79000	4,126.79
0120 0700 1 22 SINGLE POST SIGN, F&I BARRIER MOUNT INDEX 11871/700-013, 12-20 SF		1.000 AS	2,400.00000	2,400.00	3,308.00000	3,308.00	4,346.80000	4,346.80
0125 0700 1 31 SINGLE POST SIGN, F&I BRIDGE MOUNT INDEX 11870/700-012, UP TO 12 SF		1.000 AS	3,200.00000	3,200.00	3,500.00000	3,500.00	4,641.97000	4,641.97
0130 0700 1 32 SINGLE POST SIGN, F&I BRIDGE MOUNT INDEX 11870/700-012, 12-20 SF		1.000 AS	3,400.00000	3,400.00	3,702.00000	3,702.00	4,861.99000	4,861.99
0135 0700 1 80 SINGLE POST SIGN, REPAIR		1.000 AS	250.00000	250.00	376.00000	376.00	1,058.67000	1,058.67
0140 0700 1 87 SINGLE POST SIGN, REPAIR- REPLACE POST, USE EXISTING SIGN PANEL		1.000 AS	600.00000	600.00	3,162.00000	3,162.00	839.38000	839.38



Tabulation of Bids

Letting: 02190515 May 15, 2019

Call Order: 007

Contract: Z2201

Line No / Item ID Item Description () indicates item is bid as Lump Sum	Alternate	Quantity Units	(1) ACME BARRICADES, L.C.		(2) TRAFFIC CONTROL DEVICES, INC.		(3) FLORIDA SAFETY CONTRACTORS, INC.	
			Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001 EMER.DELINEATOR/ATTENUATOR/SIGN REPR(EA)								
0145 0700 2 11 MULTI- POST SIGN, F&I GROUND MOUNT, UP TO 12 SF		1.000 AS	3,000.00000	3,000.00	4,174.00000	4,174.00	4,722.40000	4,722.40
0150 0700 2 12 MULTI- POST SIGN, F&I GROUND MOUNT, 12-20 SF		1.000 AS	4,000.00000	4,000.00	4,434.00000	4,434.00	5,071.96000	5,071.96
0155 0700 2 13 MULTI- POST SIGN, F&I GROUND MOUNT, 21-30 SF		1.000 AS	5,600.00000	5,600.00	5,662.00000	5,662.00	5,444.73000	5,444.73
0160 0700 2 14 MULTI- POST SIGN, F&I GROUND MOUNT, 31-50 SF		1.000 AS	6,500.00000	6,500.00	6,637.00000	6,637.00	7,531.14000	7,531.14
0165 0700 2 15 MULTI- POST SIGN, F&I GROUND MOUNT, 51-100 SF		1.000 AS	11,000.00000	11,000.00	7,721.00000	7,721.00	10,141.75000	10,141.75
0170 0700 2 16 MULTI- POST SIGN, F&I GROUND MOUNT, 101-200 SF		1.000 AS	13,000.00000	13,000.00	12,054.00000	12,054.00	13,322.43000	13,322.43
0175 0700 2 17 MULTI- POST SIGN, F&I GROUND MOUNT, 201-300 SF		1.000 AS	18,000.00000	18,000.00	17,341.00000	17,341.00	16,467.91000	16,467.91
0180 0700 2 18 MULTI- POST SIGN, F&I GROUND MOUNT, 301-400 SF		1.000 AS	20,000.00000	20,000.00	23,826.00000	23,826.00	22,729.70000	22,729.70
0185 0700 2 50 MULTI- POST SIGN, GROUND MOUNT, RELOCATE		1.000 AS	6,500.00000	6,500.00	8,899.00000	8,899.00	8,896.16000	8,896.16



Tabulation of Bids

Letting: 02190515 May 15, 2019

Call Order: 007

Contract: Z2201

Line No / Item ID Item Description () indicates item is bid as Lump Sum	Alternate	Quantity Units	(1) ACME BARRICADES, L.C.		(2) TRAFFIC CONTROL DEVICES, INC.		(3) FLORIDA SAFETY CONTRACTORS, INC.	
			Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001 EMER.DELINEATOR/ATTENUATOR/SIGN REPR(EA)								
0190 0700 3101 SIGN PANEL, FURNISH & INSTALL GROUND MOUNT, UP TO 12 SF		1.000 EA	600.00000	600.00	327.00000	327.00	412.18000	412.18
0195 0700 3102 SIGN PANEL, FURNISH & INSTALL GROUND MOUNT, 12-20 SF		1.000 EA	775.00000	775.00	654.00000	654.00	690.40000	690.40
0200 0700 3103 SIGN PANEL, FURNISH & INSTALL GROUND MOUNT, 21-30 SF		1.000 EA	1,800.00000	1,800.00	970.00000	970.00	1,228.73000	1,228.73
0205 0700 3104 SIGN PANEL, FURNISH & INSTALL GROUND MOUNT, 31-50 SF		1.000 EA	2,400.00000	2,400.00	1,864.00000	1,864.00	1,842.65000	1,842.65
0210 0700 3105 SIGN PANEL, FURNISH & INSTALL GROUND MOUNT, 51-100 SF		1.000 EA	4,400.00000	4,400.00	3,345.00000	3,345.00	3,269.10000	3,269.10
0215 0700 3106 SIGN PANEL, FURNISH & INSTALL GROUND MOUNT, 101-200 SF		1.000 EA	6,500.00000	6,500.00	6,553.00000	6,553.00	6,120.00000	6,120.00
0220 0700 3107 SIGN PANEL, FURNISH & INSTALL GROUND MOUNT, 201-300 SF		1.000 EA	10,000.00000	10,000.00	9,472.00000	9,472.00	9,284.47000	9,284.47
0225 0700 3108 SIGN PANEL, FURNISH & INSTALL GROUND MOUNT, 301-400 SF		1.000 EA	12,000.00000	12,000.00	12,666.00000	12,666.00	12,488.59000	12,488.59
0230 0700 3109 SIGN PANEL, FURNISH & INSTALL GROUND MOUNT, 401-500 SF		1.000 EA	15,500.00000	15,500.00	16,264.00000	16,264.00	15,725.96000	15,725.96



Tabulation of Bids

Letting: 02190515 May 15, 2019

Call Order: 007

Contract: Z2201

Line No / Item ID Item Description () indicates item is bid as Lump Sum	Alternate	Quantity Units	(1) ACME BARRICADES, L.C.		(2) TRAFFIC CONTROL DEVICES, INC.		(3) FLORIDA SAFETY CONTRACTORS, INC.	
			Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001 EMER.DELINEATOR/ATTENUATOR/SIGN REPR(EA)								
0235 0700 3201 SIGN PANEL, FURNISH & INSTALL OVERHEAD MOUNT, UP TO 12 SF		1.000 EA	1,000.00000	1,000.00	663.00000	663.00	518.34000	518.34
0240 0700 3202 SIGN PANEL, FURNISH & INSTALL OVERHEAD MOUNT, 12-20 SF		1.000 EA	1,300.00000	1,300.00	987.00000	987.00	1,142.83000	1,142.83
0245 0700 3203 SIGN PANEL, FURNISH & INSTALL OVERHEAD MOUNT, 21-30 SF		1.000 EA	1,800.00000	1,800.00	1,587.00000	1,587.00	1,606.39000	1,606.39
0250 0700 3204 SIGN PANEL, FURNISH & INSTALL OVERHEAD MOUNT, 31-50 SF		1.000 EA	3,200.00000	3,200.00	2,423.00000	2,423.00	2,322.46000	2,322.46
0255 0700 3205 SIGN PANEL, FURNISH & INSTALL OVERHEAD MOUNT, 51-100 SF		1.000 EA	4,700.00000	4,700.00	4,189.00000	4,189.00	3,892.95000	3,892.95
0260 0700 3206 SIGN PANEL, FURNISH & INSTALL OVERHEAD MOUNT, 101-200 SF		1.000 EA	8,000.00000	8,000.00	7,058.00000	7,058.00	7,115.36000	7,115.36
0265 0700 3207 SIGN PANEL, FURNISH & INSTALL OVERHEAD MOUNT, 201-300 SF		1.000 EA	10,500.00000	10,500.00	10,509.00000	10,509.00	10,520.12000	10,520.12
0270 0700 3208 SIGN PANEL, FURNISH & INSTALL OVERHEAD MOUNT, 301-400 SF		1.000 EA	14,000.00000	14,000.00	14,129.00000	14,129.00	13,924.87000	13,924.87
0275 0700 3209 SIGN PANEL, FURNISH & INSTALL OVERHEAD MOUNT, 401-500 SF		1.000 EA	17,500.00000	17,500.00	18,186.00000	18,186.00	17,475.42000	17,475.42



Tabulation of Bids

Letting: 02190515 May 15, 2019

Call Order: 007

Contract: Z2201

Line No / Item ID Item Description () indicates item is bid as Lump Sum	Alternate	Quantity Units	(1) ACME BARRICADES, L.C.		(2) TRAFFIC CONTROL DEVICES, INC.		(3) FLORIDA SAFETY CONTRACTORS, INC.	
			Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001 EMER.DELINEATOR/ATTENUATOR/SIGN REPR(EA)								
0280 0700 3210 SIGN PANEL, FURNISH & INSTALL OVERHEAD MOUNT, 501-600 SF		1.000 EA	15,000.00000	15,000.00	21,739.00000	21,739.00	20,880.18000	20,880.18
0285 0700 3211 SIGN PANEL, FURNISH & INSTALL OVERHEAD MOUNT, 601 SF AND GREATER		1.000 EA	20,000.00000	20,000.00	23,591.00000	23,591.00	26,798.07000	26,798.07
0290 0700 3301 SIGN PANEL, FURNISH & INSTALL BRIDGE MOUNT INDEX 11870/700-012, UP TO 12 SF		1.000 EA	800.00000	800.00	756.00000	756.00	518.34000	518.34
0295 0700 3302 SIGN PANEL, FURNISH & INSTALL BRIDGE MOUNT INDEX 11870/700-012, 12-20 SF		1.000 EA	1,600.00000	1,600.00	1,030.00000	1,030.00	957.42000	957.42
0300 0700 3401 SIGN PANEL, INSTALL, UP TO 12 SF		1.000 EA	275.00000	275.00	272.00000	272.00	225.04000	225.04
0305 0700 3402 SIGN PANEL, INSTALL, 12-20 SF		1.000 EA	300.00000	300.00	310.00000	310.00	516.59000	516.59
0310 0700 3403 SIGN PANEL, INSTALL, 21-30 SF		1.000 EA	500.00000	500.00	427.00000	427.00	662.37000	662.37
0315 0700 3404 SIGN PANEL, INSTALL, 31-50 SF		1.000 EA	500.00000	500.00	657.00000	657.00	887.41000	887.41



Tabulation of Bids

Letting: 02190515 May 15, 2019

Call Order: 007

Contract: Z2201

Line No / Item ID Item Description () indicates item is bid as Lump Sum	Alternate	Quantity Units	(1) ACME BARRICADES, L.C.		(2) TRAFFIC CONTROL DEVICES, INC.		(3) FLORIDA SAFETY CONTRACTORS, INC.	
			Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001 EMER.DELINEATOR/ATTENUATOR/SIGN REPR(EA)								
0320 0700 3405 SIGN PANEL, INSTALL, 51-100 SF		1.000 EA	1,000.00000	1,000.00	1,515.00000	1,515.00	1,033.19000	1,033.19
0325 0700 3406 SIGN PANEL, INSTALL, 101-200 SF		1.000 EA	1,000.00000	1,000.00	2,020.00000	2,020.00	1,324.74000	1,324.74
0330 0700 3407 SIGN PANEL, INSTALL, 201-300 SF		1.000 EA	2,000.00000	2,000.00	2,525.00000	2,525.00	1,549.78000	1,549.78
0335 0700 3408 SIGN PANEL, INSTALL, 301-400 SF		1.000 EA	3,000.00000	3,000.00	3,030.00000	3,030.00	1,695.56000	1,695.56
0340 0700 4111 OVERHEAD STATIC SIGN STRUCTURE, FURNISH & INSTALL, CANTILEVER, UP TO 20 FT		1.000 EA	60,000.00000	60,000.00	63,132.00000	63,132.00	66,107.26000	66,107.26
0345 0700 4112 OVERHEAD STATIC SIGN STRUCTURE, FURNISH & INSTALL, CANTILEVER, 21- 30 FT		1.000 EA	70,000.00000	70,000.00	67,175.00000	67,175.00	72,936.89000	72,936.89
0350 0700 4113 OVERHEAD STATIC SIGN STRUCTURE, FURNISH & INSTALL, CANTILEVER, 31- 40 FT		1.000 EA	90,000.00000	90,000.00	80,636.00000	80,636.00	85,140.30000	85,140.30
0355 0700 4114 OVERHEAD STATIC SIGN STRUCTURE, FURNISH & INSTALL, CANTILEVER, 41- 50 FT		1.000 EA	100,000.00000	100,000.00	95,228.00000	95,228.00	98,729.48000	98,729.48



Tabulation of Bids

Letting: 02190515 May 15, 2019

Call Order: 007

Contract: Z2201

Line No / Item ID Item Description () indicates item is bid as Lump Sum	Alternate	Quantity Units	(1) ACME BARRICADES, L.C.		(2) TRAFFIC CONTROL DEVICES, INC.		(3) FLORIDA SAFETY CONTRACTORS, INC.	
			Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001 EMER.DELINEATOR/ATTENUATOR/SIGN REPR(EA)								
0360 0700 4121 OVERHEAD STATIC SIGN STRUCTURE, FURNISH & INSTALL, SPAN, UP TO 20 FT		1.000 EA	60,000.00000	60,000.00	112,152.00000	112,152.00	140,002.30000	140,002.30
0365 0700 4122 OVERHEAD STATIC SIGN STRUCTURE, FURNISH & INSTALL, SPAN, 21-30 FT		1.000 EA	65,000.00000	65,000.00	114,052.00000	114,052.00	143,718.89000	143,718.89
0370 0700 5 11 INTERNALLY ILLUMINATED SIGN, FURNISH & INSTALL GROUND MOUNT, UP TO 12 SF		1.000 EA	4,500.00000	4,500.00	5,169.00000	5,169.00	4,919.45000	4,919.45
0375 0700 5 21 INTERNALLY ILLUMINATED SIGN, FURNISH & INSTALL OVERHEAD MOUNT, UP TO 12 SF		1.000 EA	4,500.00000	4,500.00	4,909.00000	4,909.00	5,788.25000	5,788.25
0380 0700 5 22 INTERNALLY ILLUMINATED SIGN, FURNISH & INSTALL, OVERHEAD MOUNT, 12-18 SF		1.000 EA	5,000.00000	5,000.00	5,381.00000	5,381.00	6,273.32000	6,273.32
0385 0700 11121 ELECTRONIC DISPLAY SIGN, FURNISH & INSTALL GROUND MOUNT- AC POWERED, ELECTRONIC REGULATORY SIGN, UP TO 12 SF		1.000 AS	8,800.00000	8,800.00	5,003.00000	5,003.00	7,928.16000	7,928.16
0390 0700 11321 ELECTRONIC DISPLAY SIGN, FURNISH & INSTALL OVERHEAD MOUNT- AC POWERED, REGULATORY SIGN, UP TO 12 SF		1.000 AS	9,500.00000	9,500.00	4,315.00000	4,315.00	5,706.09000	5,706.09



Tabulation of Bids

Letting: 02190515 May 15, 2019

Call Order: 007

Contract: Z2201

Line No / Item ID Item Description () indicates item is bid as Lump Sum	Alternate	Quantity Units	(1) ACME BARRICADES, L.C.		(2) TRAFFIC CONTROL DEVICES, INC.		(3) FLORIDA SAFETY CONTRACTORS, INC.	
			Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001 EMER.DELINEATOR/ATTENUATOR/SIGN REPR(EA)								
0395 0700 12 11 SIGN BEACON, F&I GROUND MOUNT- AC POWERED, ONE BEACON	AS	1.000	2,500.00000	2,500.00	2,394.00000	2,394.00	4,385.61000	4,385.61
0400 0700 12 12 SIGN BEACON, F&I GROUND MOUNT- AC POWERED, TWO BEACONS	AS	1.000	2,900.00000	2,900.00	2,869.00000	2,869.00	4,946.71000	4,946.71
0405 0700 12 21 SIGN BEACON, F&I GROUND MOUNT- SOLAR POWERED, ONE BEACON	AS	1.000	4,500.00000	4,500.00	4,192.00000	4,192.00	7,666.47000	7,666.47
0410 0700 12 22 SIGN BEACON, F&I GROUND MOUNT- SOLAR POWERED, TWO BEACONS	AS	1.000	5,000.00000	5,000.00	6,311.00000	6,311.00	9,265.08000	9,265.08
0415 0700 12 31 SIGN BEACON, F&I OVERHEAD MOUNT, ONE BEACON	AS	1.000	7,500.00000	7,500.00	3,994.00000	3,994.00	2,469.36000	2,469.36
0420 0700 12 32 SIGN BEACON, F&I OVERHEAD MOUNT, TWO BEACONS	AS	1.000	8,500.00000	8,500.00	4,427.00000	4,427.00	4,323.77000	4,323.77
0425 0700 12 60 SIGN BEACON, REMOVE BEACON- SIGN TO REMAIN	AS	1.000	100.00000	100.00	310.00000	310.00	145.78000	145.78
0430 0705 10 1 OBJECT MARKER, TYPE 1	EA	1.000	200.00000	200.00	192.00000	192.00	341.61000	341.61
0435 0705 10 2 OBJECT MARKER, TYPE 2	EA	1.000	150.00000	150.00	149.00000	149.00	295.64000	295.64



Tabulation of Bids

Letting: 02190515 May 15, 2019

Call Order: 007

Contract: Z2201

Line No / Item ID Item Description () indicates item is bid as Lump Sum	Alternate	Quantity Units	(1) ACME BARRICADES, L.C.		(2) TRAFFIC CONTROL DEVICES, INC.		(3) FLORIDA SAFETY CONTRACTORS, INC.	
			Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001 EMER.DELINEATOR/ATTENUATOR/SIGN REPR(EA)								
0440 0705 10 3 OBJECT MARKER, TYPE 3		1.000 EA	175.00000	175.00	191.00000	191.00	339.99000	339.99
0445 0705 11 1 DELINEATOR, FLEXIBLE TUBULAR		1.000 EA	100.00000	100.00	128.00000	128.00	172.74000	172.74
0450 0705 11 2 DELINEATOR, NON-FLEXIBLE		1.000 EA	85.00000	85.00	134.00000	134.00	295.61000	295.61
0455 0705 11 3 DELINEATOR, FLEXIBLE HIGH VISABILITY MEDIAN		1.000 EA	200.00000	200.00	209.00000	209.00	267.85000	267.85
0460 0705 11 4 DELINEATOR, FLEXIBLE HIGH PERFORMANCE 48"		1.000 EA	125.00000	125.00	242.00000	242.00	347.11000	347.11
0465 E700 46 32 REPAIR EXISTING SIGN (MULTI POST)		1.000 AS	3,000.00000	3,000.00	2,927.00000	2,927.00	5,357.04000	5,357.04
0001 Section Totals: EMER. DELINEATOR/ATTENUATOR/SI GN REPR(EA)				\$841,883.00		\$908,562.00		\$998,612.94
Contract Grand Totals:				\$841,883.00		\$908,562.00		998,612.94



Tabulation of Bids

Letting: 02190515 May 15, 2019 **Call Order:** 007 **Contract:** Z2201

NOTE: Failure to file a protest within the time prescribed in section 120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes.



Tabulation of Bids

Letting: 02190515 May 15, 2019 **Call Order:** 008 **Contract:** Z2202
District: District 2 **Counties:** DIST/ST-WIDE **Fed Aid No:** N/A
Contract Time: 365 CALENDAR DAYS **Project(s):** 4455791E202 (*)

Contract Descr: Pre-Event Emergency Sign Repair/Replacement - Western

Western Region Contract for Sign Repair and Replacement Operations pursuant to a Governor's and/or President's Declaration of a State Emergency. This Contract will be a Western regional contract that includes Alachua, Baker, Bradford, Columbia, Dixie, Gilchrist, Hamilton, Lafayette, Levy, Madison, Suwannee, Taylor and Union counties within District 2. The Contractor shall perform Sign Repair and Replacement Operations pursuant to the terms of this Contract and at the direction of the Department.

The Contractor shall provide a letter to the Department at the time of bid, from a surety authorized to do business in the State of Florida verifying the Contractor is bondable in the State of Florida. For the purposes of this Contract the dollar amount is established at \$500,000.00.

Awarded Contractor must execute documents within five (5) calendar days, excluding Saturdays, Sundays, and state holidays, with General Liability and Worker's Comp Insurance.

No quantities are guaranteed and there will be no unit cost adjustment for quantities required over or under the estimated quantities.

BID EXPRESS MANDATORY.

Line No / Item ID Item Description () indicates item is bid as Lump Sum	Alternate	Quantity Units	(1) ACME BARRICADES, L.C.		(2) TRAFFIC CONTROL DEVICES, INC.		Unit Price	Ext Amount
			Unit Price	Ext Amount	Unit Price	Ext Amount		
SECTION: 0001			EMER.DELINEATOR/ATTENUATOR/SIGN REPR(EA)					
0005 0630 2 11 CONDUIT, FURNISH & INSTALL, OPEN TRENCH		1.000 LF	20.00000	20.00	10.00000	10.00		
0010 0630 2 12 CONDUIT, FURNISH & INSTALL, DIRECTIONAL BORE		1.000 LF	40.00000	40.00	20.00000	20.00		
0015 0630 2 14 CONDUIT, FURNISH & INSTALL, ABOVEGROUND		1.000 LF	40.00000	40.00	28.00000	28.00		
0020 0630 2 15 CONDUIT, FURNISH & INSTALL, BRIDGE MOUNT		1.000 LF	40.00000	40.00	34.00000	34.00		



Tabulation of Bids

Letting: 02190515 May 15, 2019

Call Order: 008

Contract: Z2202

Line No / Item ID Item Description () indicates item is bid as Lump Sum	Alternate	Quantity Units	(1) ACME BARRICADES, L.C.		(2) TRAFFIC CONTROL DEVICES, INC.			
			Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001 EMER.DELINEATOR/ATTENUATOR/SIGN REPR(EA)								
0025 0632 7 2 SIGNAL CABLE- REPAIR/REPLACE/OTHER, FURNISH & INSTALL		1.000 LF	8.00000	8.00	5.00000	5.00		
0030 0634 4142 SPAN WIRE ASSEMBLY, F&I, SINGLE POINT, DIAGONAL		1.000 PI	4,000.00000	4,000.00	2,171.00000	2,171.00		
0035 0634 4152 SPAN WIRE ASSEMBLY, F&I, TWO POINT, DIAGONAL		1.000 PI	4,000.00000	4,000.00	3,877.00000	3,877.00		
0040 0635 2 11 PULL & SPLICE BOX, F&I, 13" x 24" COVER SIZE		1.000 EA	2,000.00000	2,000.00	687.00000	687.00		
0045 0635 2 12 PULL & SPLICE BOX, F&I, 24" X 36" COVER SIZE		1.000 EA	2,200.00000	2,200.00	1,407.00000	1,407.00		
0050 0639 1111 ELECTRICAL POWER SERVICE, F&I, OVERHEAD, METER FURNISHED BY POWER COMPANY		1.000 AS	6,000.00000	6,000.00	2,833.00000	2,833.00		
0055 0639 1112 ELECTRICAL POWER SERVICE, F&I, OVERHEAD METER PURCHASED BY CONTRACTOR FROM POWER COMPANY		1.000 AS	6,000.00000	6,000.00	3,103.00000	3,103.00		
0060 0639 1113 ELECTRICAL POWER SERVICE, F&I, OVERHEAD METER NOT REQUIRED		1.000 AS	3,000.00000	3,000.00	2,833.00000	2,833.00		



Tabulation of Bids

Letting: 02190515 May 15, 2019

Call Order: 008

Contract: Z2202

Line No / Item ID Item Description () indicates item is bid as Lump Sum	Alternate	Quantity Units	(1) ACME BARRICADES, L.C.		(2) TRAFFIC CONTROL DEVICES, INC.			
			Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001 EMER.DELINEATOR/ATTENUATOR/SIGN REPR(EA)								
0065 0639 1121 ELECTRICAL POWER SERVICE, F&I, UNDERGROUND, METER FURNISHED BY POWER COMPANY		1.000 AS	6,000.00000	6,000.00	2,333.00000	2,333.00		
0070 0639 1122 ELECTRICAL POWER SERVICE, F&I, UNDERGROUND, METER PURCHASED BY CONTRACTOR		1.000 AS	4,000.00000	4,000.00	2,602.00000	2,602.00		
0075 0639 1123 ELECTRICAL POWER SERVICE, F&I, UNDERGROUND, METER NOT REQUIRED		1.000 AS	4,000.00000	4,000.00	2,333.00000	2,333.00		
0080 0641 2 12 PRESTRESSED CONCRETE POLE, F&I, TYPE P-II SERVICE POLE		1.000 EA	3,000.00000	3,000.00	1,319.00000	1,319.00		
0085 0641 2 15 PRESTRESSED CONCRETE POLE, F&I, TYPE P-V		1.000 EA	9,500.00000	9,500.00	8,015.00000	8,015.00		
0090 0670 4 1 INTERSECTION CONTROL BEACON CONTROLLER ASSEMBLY, FURNISH & INSTALL		1.000 AS	2,500.00000	2,500.00	2,011.00000	2,011.00		
0095 0700 1 11 SINGLE POST SIGN, F&I GROUND MOUNT, UP TO 12 SF		1.000 AS	800.00000	800.00	495.00000	495.00		
0100 0700 1 12 SINGLE POST SIGN, F&I GROUND MOUNT, 12-20 SF		1.000 AS	2,800.00000	2,800.00	2,148.00000	2,148.00		



Tabulation of Bids

Letting: 02190515 May 15, 2019

Call Order: 008

Contract: Z2202

Line No / Item ID Item Description () indicates item is bid as Lump Sum	Alternate	Quantity Units	(1) ACME BARRICADES, L.C.		(2) TRAFFIC CONTROL DEVICES, INC.			
			Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001 EMER.DELINEATOR/ATTENUATOR/SIGN REPR(EA)								
0105 0700 1 13 SINGLE POST SIGN, F&I GROUND MOUNT, 21-30 SF		1.000 AS	3,500.00000	3,500.00	2,957.00000	2,957.00		
0110 0700 1 14 SINGLE POST SIGN, F&I GROUND MOUNT, 31+ SF		1.000 AS	4,500.00000	4,500.00	3,904.00000	3,904.00		
0115 0700 1 21 SINGLE POST SIGN, F&I BARRIER MOUNT INDEX 11871/700-013 UP TO 12 SF		1.000 AS	2,200.00000	2,200.00	3,102.00000	3,102.00		
0120 0700 1 22 SINGLE POST SIGN, F&I BARRIER MOUNT INDEX 11871/700-013, 12-20 SF		1.000 AS	2,400.00000	2,400.00	3,308.00000	3,308.00		
0125 0700 1 31 SINGLE POST SIGN, F&I BRIDGE MOUNT INDEX 11870/700-012, UP TO 12 SF		1.000 AS	3,200.00000	3,200.00	3,500.00000	3,500.00		
0130 0700 1 32 SINGLE POST SIGN, F&I BRIDGE MOUNT INDEX 11870/700-012, 12-20 SF		1.000 AS	3,400.00000	3,400.00	3,702.00000	3,702.00		
0135 0700 1 80 SINGLE POST SIGN, REPAIR		1.000 AS	250.00000	250.00	376.00000	376.00		
0140 0700 1 87 SINGLE POST SIGN, REPAIR- REPLACE POST, USE EXISTING SIGN PANEL		1.000 AS	600.00000	600.00	3,162.00000	3,162.00		



Tabulation of Bids

Letting: 02190515 May 15, 2019

Call Order: 008

Contract: Z2202

Line No / Item ID Item Description () indicates item is bid as Lump Sum	Alternate	Quantity Units	(1) ACME BARRICADES, L.C.		(2) TRAFFIC CONTROL DEVICES, INC.			
			Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001 EMER.DELINEATOR/ATTENUATOR/SIGN REPR(EA)								
0145 0700 2 11 MULTI- POST SIGN, F&I GROUND MOUNT, UP TO 12 SF		1.000 AS	3,000.00000	3,000.00	4,174.00000	4,174.00		
0150 0700 2 12 MULTI- POST SIGN, F&I GROUND MOUNT, 12-20 SF		1.000 AS	4,000.00000	4,000.00	4,434.00000	4,434.00		
0155 0700 2 13 MULTI- POST SIGN, F&I GROUND MOUNT, 21-30 SF		1.000 AS	5,600.00000	5,600.00	5,662.00000	5,662.00		
0160 0700 2 14 MULTI- POST SIGN, F&I GROUND MOUNT, 31-50 SF		1.000 AS	6,500.00000	6,500.00	6,637.00000	6,637.00		
0165 0700 2 15 MULTI- POST SIGN, F&I GROUND MOUNT, 51-100 SF		1.000 AS	11,000.00000	11,000.00	7,721.00000	7,721.00		
0170 0700 2 16 MULTI- POST SIGN, F&I GROUND MOUNT, 101-200 SF		1.000 AS	13,000.00000	13,000.00	12,054.00000	12,054.00		
0175 0700 2 17 MULTI- POST SIGN, F&I GROUND MOUNT, 201-300 SF		1.000 AS	18,000.00000	18,000.00	17,341.00000	17,341.00		
0180 0700 2 18 MULTI- POST SIGN, F&I GROUND MOUNT, 301-400 SF		1.000 AS	20,000.00000	20,000.00	23,826.00000	23,826.00		
0185 0700 2 50 MULTI- POST SIGN, GROUND MOUNT, RELOCATE		1.000 AS	6,500.00000	6,500.00	8,899.00000	8,899.00		



Tabulation of Bids

Letting: 02190515 May 15, 2019

Call Order: 008

Contract: Z2202

Line No / Item ID Item Description () indicates item is bid as Lump Sum	Alternate	Quantity Units	(1) ACME BARRICADES, L.C.		(2) TRAFFIC CONTROL DEVICES, INC.			
			Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001 EMER.DELINEATOR/ATTENUATOR/SIGN REPR(EA)								
0190 0700 3101 SIGN PANEL, FURNISH & INSTALL GROUND MOUNT, UP TO 12 SF		1.000 EA	600.00000	600.00	327.00000	327.00		
0195 0700 3102 SIGN PANEL, FURNISH & INSTALL GROUND MOUNT, 12-20 SF		1.000 EA	775.00000	775.00	654.00000	654.00		
0200 0700 3103 SIGN PANEL, FURNISH & INSTALL GROUND MOUNT, 21-30 SF		1.000 EA	1,800.00000	1,800.00	970.00000	970.00		
0205 0700 3104 SIGN PANEL, FURNISH & INSTALL GROUND MOUNT, 31-50 SF		1.000 EA	2,400.00000	2,400.00	1,864.00000	1,864.00		
0210 0700 3105 SIGN PANEL, FURNISH & INSTALL GROUND MOUNT, 51-100 SF		1.000 EA	4,400.00000	4,400.00	3,345.00000	3,345.00		
0215 0700 3106 SIGN PANEL, FURNISH & INSTALL GROUND MOUNT, 101-200 SF		1.000 EA	6,500.00000	6,500.00	6,553.00000	6,553.00		
0220 0700 3107 SIGN PANEL, FURNISH & INSTALL GROUND MOUNT, 201-300 SF		1.000 EA	10,000.00000	10,000.00	9,472.00000	9,472.00		
0225 0700 3108 SIGN PANEL, FURNISH & INSTALL GROUND MOUNT, 301-400 SF		1.000 EA	12,000.00000	12,000.00	12,666.00000	12,666.00		
0230 0700 3109 SIGN PANEL, FURNISH & INSTALL GROUND MOUNT, 401-500 SF		1.000 EA	15,500.00000	15,500.00	16,264.00000	16,264.00		



Tabulation of Bids

Letting: 02190515 May 15, 2019

Call Order: 008

Contract: Z2202

Line No / Item ID Item Description () indicates item is bid as Lump Sum	Alternate	Quantity Units	(1) ACME BARRICADES, L.C.		(2) TRAFFIC CONTROL DEVICES, INC.			
			Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001 EMER.DELINEATOR/ATTENUATOR/SIGN REPR(EA)								
0235 0700 3201 SIGN PANEL, FURNISH & INSTALL OVERHEAD MOUNT, UP TO 12 SF		1.000 EA	1,000.00000	1,000.00	663.00000	663.00		
0240 0700 3202 SIGN PANEL, FURNISH & INSTALL OVERHEAD MOUNT, 12-20 SF		1.000 EA	1,300.00000	1,300.00	987.00000	987.00		
0245 0700 3203 SIGN PANEL, FURNISH & INSTALL OVERHEAD MOUNT, 21-30 SF		1.000 EA	1,800.00000	1,800.00	1,587.00000	1,587.00		
0250 0700 3204 SIGN PANEL, FURNISH & INSTALL OVERHEAD MOUNT, 31-50 SF		1.000 EA	3,200.00000	3,200.00	2,423.00000	2,423.00		
0255 0700 3205 SIGN PANEL, FURNISH & INSTALL OVERHEAD MOUNT, 51-100 SF		1.000 EA	4,700.00000	4,700.00	4,189.00000	4,189.00		
0260 0700 3206 SIGN PANEL, FURNISH & INSTALL OVERHEAD MOUNT, 101-200 SF		1.000 EA	8,000.00000	8,000.00	7,058.00000	7,058.00		
0265 0700 3207 SIGN PANEL, FURNISH & INSTALL OVERHEAD MOUNT, 201-300 SF		1.000 EA	10,500.00000	10,500.00	10,509.00000	10,509.00		
0270 0700 3208 SIGN PANEL, FURNISH & INSTALL OVERHEAD MOUNT, 301-400 SF		1.000 EA	14,000.00000	14,000.00	14,129.00000	14,129.00		
0275 0700 3209 SIGN PANEL, FURNISH & INSTALL OVERHEAD MOUNT, 401-500 SF		1.000 EA	17,500.00000	17,500.00	18,186.00000	18,186.00		



Tabulation of Bids

Letting: 02190515 May 15, 2019

Call Order: 008

Contract: Z2202

Line No / Item ID Item Description () indicates item is bid as Lump Sum	Alternate	Quantity Units	(1) ACME BARRICADES, L.C.		(2) TRAFFIC CONTROL DEVICES, INC.			
			Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001 EMER.DELINEATOR/ATTENUATOR/SIGN REPR(EA)								
0280 0700 3210 SIGN PANEL, FURNISH & INSTALL OVERHEAD MOUNT, 501-600 SF		1.000 EA	15,000.00000	15,000.00	21,739.00000	21,739.00		
0285 0700 3211 SIGN PANEL, FURNISH & INSTALL OVERHEAD MOUNT, 601 SF AND GREATER		1.000 EA	20,000.00000	20,000.00	23,591.00000	23,591.00		
0290 0700 3301 SIGN PANEL, FURNISH & INSTALL BRIDGE MOUNT INDEX 11870/700-012, UP TO 12 SF		1.000 EA	800.00000	800.00	756.00000	756.00		
0295 0700 3302 SIGN PANEL, FURNISH & INSTALL BRIDGE MOUNT INDEX 11870/700-012, 12-20 SF		1.000 EA	1,600.00000	1,600.00	1,030.00000	1,030.00		
0300 0700 3401 SIGN PANEL, INSTALL, UP TO 12 SF		1.000 EA	275.00000	275.00	272.00000	272.00		
0305 0700 3402 SIGN PANEL, INSTALL, 12-20 SF		1.000 EA	300.00000	300.00	310.00000	310.00		
0310 0700 3403 SIGN PANEL, INSTALL, 21-30 SF		1.000 EA	500.00000	500.00	427.00000	427.00		
0315 0700 3404 SIGN PANEL, INSTALL, 31-50 SF		1.000 EA	500.00000	500.00	657.00000	657.00		



Tabulation of Bids

Letting: 02190515 May 15, 2019

Call Order: 008

Contract: Z2202

Line No / Item ID Item Description () indicates item is bid as Lump Sum	Alternate	Quantity Units	(1) ACME BARRICADES, L.C.		(2) TRAFFIC CONTROL DEVICES, INC.			
			Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001 EMER.DELINEATOR/ATTENUATOR/SIGN REPR(EA)								
0320 0700 3405 SIGN PANEL, INSTALL, 51-100 SF		1.000 EA	1,000.00000	1,000.00	1,515.00000	1,515.00		
0325 0700 3406 SIGN PANEL, INSTALL, 101-200 SF		1.000 EA	1,000.00000	1,000.00	2,020.00000	2,020.00		
0330 0700 3407 SIGN PANEL, INSTALL, 201-300 SF		1.000 EA	2,000.00000	2,000.00	2,525.00000	2,525.00		
0335 0700 3408 SIGN PANEL, INSTALL, 301-400 SF		1.000 EA	3,000.00000	3,000.00	3,030.00000	3,030.00		
0340 0700 4111 OVERHEAD STATIC SIGN STRUCTURE, FURNISH & INSTALL, CANTILEVER, UP TO 20 FT		1.000 EA	60,000.00000	60,000.00	63,132.00000	63,132.00		
0345 0700 4112 OVERHEAD STATIC SIGN STRUCTURE, FURNISH & INSTALL, CANTILEVER, 21- 30 FT		1.000 EA	70,000.00000	70,000.00	67,175.00000	67,175.00		
0350 0700 4113 OVERHEAD STATIC SIGN STRUCTURE, FURNISH & INSTALL, CANTILEVER, 31- 40 FT		1.000 EA	90,000.00000	90,000.00	80,636.00000	80,636.00		
0355 0700 4114 OVERHEAD STATIC SIGN STRUCTURE, FURNISH & INSTALL, CANTILEVER, 41- 50 FT		1.000 EA	100,000.00000	100,000.00	95,228.00000	95,228.00		



Tabulation of Bids

Letting: 02190515 May 15, 2019

Call Order: 008

Contract: Z2202

Line No / Item ID Item Description () indicates item is bid as Lump Sum	Alternate	Quantity Units	(1) ACME BARRICADES, L.C.		(2) TRAFFIC CONTROL DEVICES, INC.			
			Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001 EMER.DELINEATOR/ATTENUATOR/SIGN REPR(EA)								
0360 0700 4121 OVERHEAD STATIC SIGN STRUCTURE, FURNISH & INSTALL, SPAN, UP TO 20 FT		1.000 EA	60,000.00000	60,000.00	112,152.00000	112,152.00		
0365 0700 4122 OVERHEAD STATIC SIGN STRUCTURE, FURNISH & INSTALL, SPAN, 21-30 FT		1.000 EA	65,000.00000	65,000.00	114,052.00000	114,052.00		
0370 0700 5 11 INTERNALLY ILLUMINATED SIGN, FURNISH & INSTALL GROUND MOUNT, UP TO 12 SF		1.000 EA	4,500.00000	4,500.00	5,169.00000	5,169.00		
0375 0700 5 21 INTERNALLY ILLUMINATED SIGN, FURNISH & INSTALL OVERHEAD MOUNT, UP TO 12 SF		1.000 EA	4,500.00000	4,500.00	4,909.00000	4,909.00		
0380 0700 5 22 INTERNALLY ILLUMINATED SIGN, FURNISH & INSTALL, OVERHEAD MOUNT, 12-18 SF		1.000 EA	5,000.00000	5,000.00	5,381.00000	5,381.00		
0385 0700 11121 ELECTRONIC DISPLAY SIGN, FURNISH & INSTALL GROUND MOUNT- AC POWERED, ELECTRONIC REGULATORY SIGN, UP TO 12 SF		1.000 AS	8,800.00000	8,800.00	5,003.00000	5,003.00		
0390 0700 11321 ELECTRONIC DISPLAY SIGN, FURNISH & INSTALL OVERHEAD MOUNT- AC POWERED, REGULATORY SIGN, UP TO 12 SF		1.000 AS	9,500.00000	9,500.00	4,315.00000	4,315.00		



Tabulation of Bids

Letting: 02190515 May 15, 2019

Call Order: 008

Contract: Z2202

Line No / Item ID Item Description () indicates item is bid as Lump Sum	Alternate	Quantity Units	(1) ACME BARRICADES, L.C.		(2) TRAFFIC CONTROL DEVICES, INC.		Unit Price	Ext Amount
			Unit Price	Ext Amount	Unit Price	Ext Amount		
SECTION: 0001 EMER.DELINEATOR/ATTENUATOR/SIGN REPR(EA)								
0395 0700 12 11 SIGN BEACON, F&I GROUND MOUNT- AC POWERED, ONE BEACON	AS	1.000	2,500.00000	2,500.00	2,394.00000	2,394.00		
0400 0700 12 12 SIGN BEACON, F&I GROUND MOUNT- AC POWERED, TWO BEACONS	AS	1.000	2,900.00000	2,900.00	2,869.00000	2,869.00		
0405 0700 12 21 SIGN BEACON, F&I GROUND MOUNT- SOLAR POWERED, ONE BEACON	AS	1.000	4,500.00000	4,500.00	4,192.00000	4,192.00		
0410 0700 12 22 SIGN BEACON, F&I GROUND MOUNT- SOLAR POWERED, TWO BEACONS	AS	1.000	5,000.00000	5,000.00	6,311.00000	6,311.00		
0415 0700 12 31 SIGN BEACON, F&I OVERHEAD MOUNT, ONE BEACON	AS	1.000	7,500.00000	7,500.00	3,994.00000	3,994.00		
0420 0700 12 32 SIGN BEACON, F&I OVERHEAD MOUNT, TWO BEACONS	AS	1.000	8,500.00000	8,500.00	4,427.00000	4,427.00		
0425 0700 12 60 SIGN BEACON, REMOVE BEACON- SIGN TO REMAIN	AS	1.000	100.00000	100.00	310.00000	310.00		
0430 0705 10 1 OBJECT MARKER, TYPE 1	EA	1.000	200.00000	200.00	192.00000	192.00		
0435 0705 10 2 OBJECT MARKER, TYPE 2	EA	1.000	150.00000	150.00	149.00000	149.00		



Tabulation of Bids

Letting: 02190515 May 15, 2019

Call Order: 008

Contract: Z2202

Line No / Item ID Item Description () indicates item is bid as Lump Sum	Alternate	Quantity Units	(1) ACME BARRICADES, L.C.		(2) TRAFFIC CONTROL DEVICES, INC.			
			Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001 EMER.DELINEATOR/ATTENUATOR/SIGN REPR(EA)								
0440 0705 10 3 OBJECT MARKER, TYPE 3		1.000 EA	175.00000	175.00	191.00000	191.00		
0445 0705 11 1 DELINEATOR, FLEXIBLE TUBULAR		1.000 EA	100.00000	100.00	128.00000	128.00		
0450 0705 11 2 DELINEATOR, NON-FLEXIBLE		1.000 EA	85.00000	85.00	134.00000	134.00		
0455 0705 11 3 DELINEATOR, FLEXIBLE HIGH VISABILITY MEDIAN		1.000 EA	200.00000	200.00	209.00000	209.00		
0460 0705 11 4 DELINEATOR, FLEXIBLE HIGH PERFORMANCE 48"		1.000 EA	125.00000	125.00	242.00000	242.00		
0465 E700 46 32 REPAIR EXISTING SIGN (MULTI POST)		1.000 AS	3,000.00000	3,000.00	2,927.00000	2,927.00		
0001 Section Totals:				\$841,883.00		\$908,562.00		
EMER. DELINEATOR/ATTENUATOR/SI GN REPR(EA)								
Contract Grand Totals:				\$841,883.00		\$908,562.00		



Tabulation of Bids

Letting: 02190515 May 15, 2019 **Call Order:** 008 **Contract:** Z2202

NOTE: Failure to file a protest within the time prescribed in section 120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes.



Tabulation of Bids

Letting: 02190515 May 15, 2019 **Call Order:** 010 **Contract:** Z2203-R0
District: District 2 **Counties:** DIST/ST-WIDE **Fed Aid No:** N/A
Contract Time: 365 CALENDAR DAYS **Project(s):** 44558018301 (*)
Contract Descr: Winter Weather Event

The purpose of this Contract is to provide Winter Weather Event (WWE) Support pursuant to forecast temperatures below freezing with expected ice formation on bridges during winter months in the event that Department contractors, under contracts E2V97 and E2X03, fail, refuse, or are otherwise unable to perform WWE Support as required by the Department pursuant to these contracts. As such, contractors obligated to provide WWE Support under contract E2V97 or E2X03 are not eligible to submit a bid for this Contract. The Contractor shall provide all labor, mobile equipment (i.e., pickup trucks), fuel, and incidentals to complete the work described in this Contract. Activities include, but are not limited to, pre-event planning, coordination, and field operations (day and/or night) during potentially hazardous inclement weather.

This Contract includes all state roadways in Duval County within District Two but mainly focuses on Interstate bridges (including J. Turner Butler Boulevard), bridges to barrier islands, and the major commuter bridges in Jacksonville (i.e., the St. Elmo W. Acosta Bridge, the Isaiah David Hart Bridge, the John T. Alsop Jr. Bridge (aka the Main Street Bridge), the Mathews Bridges).

The Contractor shall provide a letter to the Department at the time of bid, from a surety authorized to do business in the State of Florida verifying the Contractor is bondable in the State of Florida. For the purposes of this Contract the dollar amount is established at \$150,000.00.

Awarded Contractor must execute documents within five (5) calendar days, excluding Saturdays, Sundays, and state holidays, with General Liability and Worker's Comp insurance.

The Department, at its sole discretion, may award one or more contracts. If more than one award is made, award will be based off lowest responsive bid then the next lowest responsive bid and so forth and activated in the same order based on the Contractors availability and ability to satisfy the needs of the Department at the time contacted. No quantities are guaranteed and there will be no unit cost adjustment for quantities required over or under the estimated quantities.

Renewal Option. BIDS FOR THIS PROJECT WILL NOT BE RECEIVED THROUGH BID EXPRESS. Sealed Bids will be received until 11:00 AM (Local Time) on May 15, 2019, at the address on the first page of this Advertisement/Bid Solicitation Notice. Refer to "Document Ordering Information" for instructions on ordering Scope of Services and other documents related to this Contract.

Line No / Item ID Item Description () indicates item is bid as Lump Sum	Alternate	Quantity Units	Unit Price		Ext Amount	
			Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001 EMERGENCY MAINTENANCE (MH)						
0005 E999 10 41 MAINTENANCE LUMP SUM CONTRACT		(1.000) LS	NO BIDS RECEIVED			



Tabulation of Bids

Letting: 02190515 May 15, 2019

Call Order: 010

Contract: Z2203-R0

Line No / Item ID Item Description <i>() indicates item is bid as Lump Sum</i>	Alternate	Quantity Units						
			Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount

SECTION: 0001 EMERGENCY MAINTENANCE (MH)

**0001 EMERGENCY Section Totals:
MAINTENANCE (MH)**

Contract Grand Totals:

NO BIDS RECEIVED



Tabulation of Bids

Letting: 02190515 May 15, 2019 **Call Order:** 010 **Contract:** Z2203-R0

NOTE: Failure to file a protest within the time prescribed in section 120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes.

NO BIDS RECEIVED